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967907 = 73 x 13259 x 1
0000 10210200000000000000
2P + 1 = 510510m + 457397

gbooboobooobooboboobboobboooboooboon

Q=1483961 0000
P = 510510n + 483961

2P 4+ 1 =2(510510n + 483961) + 1 = 10210201 + 967922 + 1 = 10210201 + 967923
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967923 =3 x 3 x 3 x 11 x 3259 x 1

oooo
2P + 1 = 33(30940n + 29331)

O0b0o0obO0oOoo33boooooooooboboooboobDo0obooboooooboOooDbOoo
good

Q=1483971 0000
P = 510510n + 483971

2P + 1 = 2(510510n + 483971) 4+ 1 = 10210201 4+ 967942 + 1 = 10210201 + 967943
0000010210200 20 2003,5,7,11,13,17000000 1000000

967943 = 71 x 13633 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 457433

gboboobogobooboboobboobbooobuoonooboon

Q=1483979 0000
P = 5105100 + 483979

2P + 1 = 2(510510n + 483979) 4+ 1 = 10210201 4+ 967958 + 1 = 10210201 4+ 967959
0000010210200 20 2003,5,7,11,13,17000000 10000000

967959 =3 x 3 x 131 x 821 x 1

oooo
2P + 1 = 3(340340n + 322653)

oooooooo3sooooooooobooooboOobooboobDOoobboODoOobDboOoDboO
goo

Q=483933 0000
P = 510510n + 483983

2P + 1 =2(510510n + 483983) + 1 = 10210201 + 967966 + 1 = 1021020n + 967967

0000010210200 20 2003,5,7,11,13,17000000 10000000

967967 =7 x 11 x 13 x 967 x 1

oooo
2P + 1 = 1001(1020n + 967)
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Q=4839910000
P = 510510n + 483991

2P + 1 =2(510510n + 483991) + 1 = 10210201 + 967982 + 1 = 10210201 + 967983

0000010210200 20 2003,5,7,11,13,17000000 10000000

967983 = 3 x 229 x 1409 x 1

oooo
2P + 1 = 3(340340n + 322661)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=4839970000
P = 510510n + 483997

2P 4+ 1 =2(510510n + 483997) + 1 = 1021020n + 967994 + 1 = 10210201 + 967995

0000010210200 20 2003,5,7,11,13,17000000 10000000

967995 =3 x 3 x5 X T7TxT7x439 x 1

oooo
2P + 1 = 105(9724n + 9219)

gooodoOooOoles0boboOdO0oO0O0OO00ODbDOoUODOOUDbOObDO0O0OOOUODOUODOO
good

Q=4840090000
P = 510510n + 484009

2P + 1 = 2(510510n + 484009) 4 1 = 10210201 + 968018 + 1 = 10210201 + 968019
0000010210200 20 2003,5,7,11,13,17000000 10000000

968019 =3 x 13 x 24821 x 1

ogooo
2P + 1 = 39(26180n + 24821)

oboobooo3oooooooooboboooboooboobooboboooobOoobOoo
good

Q=4840130000
P = 510510n + 484013
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2P + 1 =2(510510n + 484013) + 1 = 1021020n + 968026 + 1 = 1021020n + 968027

0000010210200 20 2003,5,7,11,13,17000000 1000000

968027 = 968027 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m 4 457517

gboboobogobogoboboobboobooobooooboon

Q=4840190000
P = 510510n + 484019

2P + 1 = 2(510510n + 484019) 4 1 = 10210201 4+ 968038 + 1 = 10210201 4+ 968039
0000010210200 20 2003,5,7,11,13,17000000 1000000

968039 = 751 x 1289 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 457529

gbbooggbogoboobbugobboobbooobuoonbagn

Q=484021 0000
P = 510510n + 484021

2P + 1 =2(510510n + 484021) + 1 = 10210201 + 968042 + 1 = 10210201 + 968043
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

968043 = 3 x 223 x 1447 x 1

oooo
2P + 1 = 3(340340n + 322681)
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goo

Q=4840270000
P = 5105100 + 484027

2P 4+ 1 =2(510510n + 484027) + 1 = 1021020n + 968054 + 1 = 10210201 + 968055

0000010210200 20 2003,5,7,11,13,17000000 10000000

968055 =3 x 5 x 11 x 5867 x 1
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oooo
2P + 1 = 165(6188n + 5867)

oboobdobgoolesoboooooooboobobobooooooobOobUobUoboDoooooo
good

Q=4840310000
P = 510510n + 484031

2P 4+ 1 = 2(510510n + 484031) 4+ 1 = 10210201 4 968062 + 1 = 1021020n + 968063
0000010210200 20 2003,5,7,11,13,17000000 1000000

968063 = 968063 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 457553

goooooboobooboooobooboobooooboobboOoOoooooDon

Q =4840370000
P = 5105100 + 484037

2P + 1 = 2(510510n + 484037) + 1 = 10210201 4 968074 + 1 = 10210201 + 968075
0000010210200 20 2003,5,7,11,13,17000000 10000000

968075 =5 x 5 x 38723 x 1

oooo
2P + 1 = 5(204204n + 193615)

o0obOobooos0b0b0obO0ob0U0o0b0bOobOUoObO0OobUobOOobDOobO0oOobUobDOobDOoo
goo

Q=4840390000
P = 5105100 + 484039

2P + 1 =2(510510n + 484039) + 1 = 1021020n + 968078 + 1 = 1021020n + 968079

0000010210200 20 2003,5,7,11,13,17000000 10000000

968079 = 3 x 7 x 46099 x 1

oooo
2P + 1 = 21(48620n + 46099)

goooooboOo210000000ob0booboo0obo0oooDoDOobDOoOoDOobDOoboboboOooboo
good
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Q=4840490000
P = 5105100 + 484049

2P + 1 =2(510510n + 484049) + 1 = 10210201 + 968098 + 1 = 10210207 + 968099

0000010210200 20 2003,5,7,11,13,17000000 10000000

968099 =11 x 17 x 31 x 167 x 1

ogoodo
2P + 1 = 187(5460n + 5177)

go0oooOooowrogooooooooOoobooooOo0ooO0boO0o0oooooDOoUgDoo
goog

Q=4840510000
P = 510510n + 484051

2P 4+ 1 =2(510510n + 484051) + 1 = 10210201 + 968102 + 1 = 10210201 + 968103

0000010210200 20 2003,5,7,11,13,17000000 10000000

968103 = 3 x 3 x 263 x 409 x 1

oooOo
2P + 1 = 3(340340n + 322701)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=4840610000
P = 510510n + 484061

2P 4+ 1 =2(510510n + 484061) + 1 = 10210201 + 968122 + 1 = 10210201 + 968123

0000010210200 20 2003,5,7,11,13,17000000 10000000

968123 = 13 x 74471 x 1

ogooo
2P + 1 = 13(78540n + 74471)

goodo0obo0oyoobooOooobOoboobooU0ooOUoo0oDOobDOoOoDOobDOobobOoboOooog
gogo

Q=4840630000
P = 510510n + 484063

2P + 1 =2(510510n + 484063) + 1 = 10210201 + 968126 + 1 = 1021020n + 968127
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0000010210200 20 2003,5,7,11,13,17000000 10000000

968127 = 3 x 322709 x 1

oooo
2P + 1 = 3(340340n + 322709)

obooboobooo3oboboboooooboboooOobOobUoboDoboDobooobOobDoooo
goo

Q =484067000 0
P = 5105100 + 484067

2P + 1 = 2(510510n + 484067) 4+ 1 = 10210201 4+ 968134 + 1 = 10210201 + 968135
0000010210200 20 2003,5,7,11,13,17000000 10000000

968135 =5 x 7x 139 x 199 x 1

oooo
2P + 1 = 35(29172n + 27661)

000000003 0000000000 000000DO00DO00DOO0ODODO0ODODOODODOD
good

Q=484069 0000
P = 510510n + 484069

2P + 1 = 2(510510n + 484069) + 1 = 1021020n + 968138 + 1 = 1021020n + 968139
0000010210200 20 2003,5,7,11,13,17000000 10000000

968139 =3 x 3 x 3 x 23 x 1559 x 1

oooo
2P + 1 = 3(340340n + 322713)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=4840730000
P = 510510n + 484073

2P + 1 =2(510510n + 484073) + 1 = 10210201 + 968146 + 1 = 10210201 + 968147

0000010210200 20 2003,5,7,11,13,17000000 1000000

968147 = 968147 x 1

oooo 10210200 000000000000

2P +1 =510510m + 457637
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Q=4840790000
P = 5105100 + 484079

2P + 1 = 2(510510n + 484079) 4+ 1 = 10210201 + 968158 + 1 = 10210201 + 968159
0000010210200 20 2003,5,7,11,13,17000000 1000000

968159 = 968159 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 457649

gbbogbogobogbbgobbooboooobuoonobagn

Q =484087 0000
P = 5105100 + 484087

2P + 1 = 2(510510n + 484087) + 1 = 10210201 + 968174 + 1 = 10210201 + 968175
0000010210200 20 2003,5,7,11,13,17000000 10000000

968175 =3 x I xHxHx13x331 x1

oooOo
2P + 1 = 195(5236n + 4965)

ooobobOooysoooooooooobobooooobooobobUobOoboooDOobooo
good

Q=4840910000
P = 510510n + 484091

2P + 1 = 2(510510n + 484091) 4 1 = 10210201 + 968182 + 1 = 10210201 + 968183
0000010210200 20 2003,5,7,11,13,17000000 1000000
968183 = 19 x 50957 x 1
0000 10210200000000000000
2P + 1 = 510510m + 457673

gbobooboooboobboobboobobooobuoonoboon

Q=4840930000
P = 510510n + 484093

2P 4+ 1 =2(510510n + 484093) + 1 = 10210201 + 968186 + 1 = 1021020n + 968187
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0000010210200 20 2003,5,7,11,13,17000000 10000000

968187 =3 x 11 x 29339 x 1

good
2P + 1 = 33(30940n + 29339)

O0b0o0obO0oOoo33boooooooooboboooboobDo0obooboooooboOooDbOoo
good

Q=484097 0000
P = 510510n + 484097

2P + 1 = 2(510510n + 484097) 4+ 1 = 10210201 4 968194 + 1 = 10210201 + 968195
0000010210200 20 2003,5,7,11,13,17000000 10000000

968195 = 5 x 83 x 2333 x 1

oooo
2P + 1 = 5(204204n + 193639)

gboobobooosboboboboobob0oboboboobobOobobDobDOobobOOobOobDOoboOoo
oono

Q=4841030000
P =510510n + 484103

2P + 1 = 2(510510n + 484103) + 1 = 10210201 + 968206 + 1 = 10210201 + 968207
0000010210200 20 2003,5,7,11,13,17000000 1000000

968207 = 977 x 991 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 457697

goboobooobooboboobboobboobooobooo

Q=4841110000
P =510510n + 484111

2P + 1 =2(510510n + 484111) + 1 = 10210201 + 968222 + 1 = 10210201 + 968223

0000010210200 20 2003,5,7,11,13,17000000 10000000

968223 =3 x 29 x 31 x 359 x 1

oooo
2P + 1 = 3(340340n + 322741)
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Q=4841170000
P = 510510n + 484117

2P 4+ 1 =2(510510n + 484117) + 1 = 10210201 + 968234 + 1 = 1021020n + 968235

0000010210200 20 2003,5,7,11,13,17000000 10000000

968235 =3 x 5 x 17 x 3797 x 1

oooo
2P + 1 = 255(4004n + 3797)

O00o00obOoo2s000000000000DO0DO0DO0000O0DOO0ODbOODbDODOoDOObOOn
good

Q=4841230000
P = 5105100 + 484123

2P + 1 =2(510510n + 484123) + 1 = 10210201 + 968246 + 1 = 1021020n + 968247

0000010210200 20 2003,5,7,11,13,17000000 10000000

968247 =3 x 3 x 3 x 7T x47 x 109 x 1

oooo
2P + 1 = 21(48620n + 46107)

go0odoOoboOo210000000b0bO0ob0oO0oo0oo0oDOobDOoOoDOobDOobDooOboOooo
good

Q=4841290000
P =510510n + 484129

2P + 1 = 2(510510n + 484129) + 1 = 10210201 + 968258 + 1 = 10210201 + 968259
0000010210200 20 2003,5,7,11,13,17000000 10000000

968259 = 3 x 19 x 16987 x 1

good
2P + 1 = 3(340340n + 322753)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=4841390000
P = 510510n + 484139
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2P + 1 =2(510510n + 484139) + 1 = 1021020n + 968278 + 1 = 1021020n + 968279

0000010210200 20 2003,5,7,11,13,17000000 10000000

968279 = 13 x 211 x 353 x 1

oooo
2P + 1 = 13(78540n + 74483)

go0o0do0obO0o3oooo0ooob0obooOooU0ooOU0ooOOooDOobDUoUoDOobDOobOoOooOooog
goog

Q=4841470000
P = 510510n + 484147

2P + 1 = 2(510510n + 484147) + 1 = 10210201 + 968294 + 1 = 10210201 + 968295
0000010210200 20 2003,5,7,11,13,17000000 10000000

968295 = 3 x 5 x 64553 x 1

oooOo
2P + 1 = 15(68068n + 64553)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOoboDbOoo
good

Q=4841510000
P = 5105100 + 484151

2P + 1 = 2(510510n + 484151) 4+ 1 = 10210201 + 968302 + 1 = 10210201 + 968303
0000010210200 20 2003,5,7,11,13,17000000 10000000

968303 =7 x 17 x 79 x 103 x 1

oooo
2P + 1 = 119(8580n + 8137)

gooooooolyogoodooooooOoobDoooboUooOobOoOoooooDOoUuDoo
good

Q=4841530000
P =510510n + 484153

2P 4+ 1 =2(510510n + 484153) + 1 = 10210201 + 968306 + 1 = 10210201 + 968307

0000010210200 20 2003,5,7,11,13,17000000 10000000

968307 = 3 x 322769 x 1
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oooo
2P + 1 = 3(340340n + 322769)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=4841570000
P =510510n + 484157

2P 4+ 1 = 2(510510n + 484157) + 1 = 10210200 + 968314 + 1 = 10210201 + 968315
0000010210200 20 2003,5,7,11,13,17000000 10000000

968315 =5 x 193663 x 1

oooo
2P + 1 = 5(204204n + 193663)

oooooooobso0oooobobooooooobooooooobooOoboboooooobobOBbOoOn
ooo

Q=4841630000
P =510510n + 484163

2P + 1 = 2(510510n + 484163) + 1 = 10210201 4 968326 + 1 = 10210201 + 968327
0000010210200 20 2003,5,7,11,13,17000000 1000000
968327 = 37 x 26171 x 1
0000 10210200000000000000
2P + 1 = 510510m + 457817

gboboobogoboobooboobboobbooobuoooboon

Q=4841710000
P = 510510n + 484171

2P 4+ 1 =2(510510n + 484171) + 1 = 10210201 + 968342 + 1 = 10210201 + 968343

0000010210200 20 2003,5,7,11,13,17000000 10000000

968343 = 3 x 322781 x 1

oooo
2P + 1 = 3(340340n + 322781)

gooooooo3sooooooooobooooUoboUobDOooDbOoUobbOUDOoOobboUODboO
goo
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Q=4841810000
P = 510510n + 484181

2P + 1 =2(510510n + 484181) + 1 = 10210201 + 968362 + 1 = 10210201 + 968363

0000010210200 20 2003,5,7,11,13,17000000 10000000

968363 = 11 x 11 x 83 x 151 x 1

oooo
2P + 1 = 11(92820n + 88033)

goboooooobonooooobooooooboooboobo0obDOooboboooobOoboDbOoo
goog

Q=484189 0000
P =510510n + 484189

2P 4+ 1 =2(510510n + 484189) + 1 = 10210201 + 968378 + 1 = 10210201 + 968379

0000010210200 20 2003,5,7,11,13,17000000 10000000

968379 = 3 x 41 x 7873 x 1

good
2P + 1 = 3(340340n + 322793)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=4841930000
P = 5105100 + 484193

2P + 1 =2(510510n + 484193) + 1 = 10210201 + 968386 + 1 = 10210201 + 968387

0000010210200 20 2003,5,7,11,13,17000000 10000000

968387 =7 x 7 x 19763 x 1

oooo
2P + 1 = 7(145860n + 138341)

gooooooOovoUoooOoooOoOOoU0OOoU0bDOUDOoUDbDOUbDOUDbDOOobDOUODOO
oono

Q=4841990000
P =510510n + 484199

2P 4+ 1 =2(510510n + 484199) + 1 = 10210201 + 968398 + 1 = 10210201 + 968399
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968399 = 653 x 1483 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 457889

goboobooobooboboobboobbooboooboon

Q=1484201 0000
P = 510510n + 484201

2P + 1 = 2(510510n + 484201) 4 1 = 10210201 4 968402 + 1 = 10210201 + 968403
0000010210200 20 2003,5,7,11,13,17000000 10000000

968403 = 3 x 43 x 7507 x 1

oooo
2P + 1 = 3(340340n + 322801)

obooboooo3obobobooooobobooooboboboobDobooobUobDOoooo
goo

Q=484207 0000
P = 510510n + 484207

2P + 1 = 2(510510n + 484207) 4+ 1 = 10210201 4+ 968414 + 1 = 10210201 + 968415
0000010210200 20 2003,5,7,11,13,17000000 10000000

968415 =3 x 5 x 7 x 23 x 401 x 1

oooo
2P 4+ 1 =105(9724n + 9223)

gooooobooles0oboOoOoO0O0oOOoO0oDOoO0oDOOODObOObDOO0OO0OO0OODOODOO
good

Q=4842130000
P =510510n + 484213

2P + 1 =2(510510n + 484213) + 1 = 10210201 + 968426 + 1 = 1021020n + 968427

0000010210200 20 2003,5,7,11,13,17000000 10000000

968427 = 3 x 3 x 107603 x 1

oooo
2P + 1 = 3(340340n + 322809)
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Q=4842170000
P = 5105100 + 484217

2P + 1 = 2(510510n + 484217) 4+ 1 = 10210201 4 968434 + 1 = 10210201 + 968435
0000010210200 20 2003,5,7,11,13,17000000 10000000

968435 =5 x 13 x 47 x 317 x 1

oooo
2P + 1 = 65(15708n + 14899)

O0000O00bOe000000D000ODOOOODOODODOODOODODUOODDODODOD
good

Q=4842190000
P = 5105100 + 484219

2P 4+ 1 = 2(510510n + 484219) + 1 = 10210201 4 968438 + 1 = 1021020n + 968439
0000010210200 20 2003,5,7,11,13,17000000 10000000

968439 =3 x 17T x 17 x 1117 x 1

oooo
2P + 1 = 51(20020n + 18989)

oboobooooslbooobobooooobobooobooboobooboboooobOoobOoo
good

Q=4842230000
P =510510n + 484223

2P + 1 = 2(510510n + 484223) + 1 = 10210201 + 968446 + 1 = 10210201 + 968447
0000010210200 20 2003,5,7,11,13,17000000 1000000
968447 = 673 x 1439 x 1
0000 10210200000000000000
2P + 1 = 510510m + 457937
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Q=48422900000
P = 5105100 + 484229

2P 4+ 1 =2(510510n + 484229) + 1 = 10210201 + 968458 + 1 = 10210201 + 968459
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968459 = 968459 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 457949

goboobooobooboboobboobbooboooboon

Q=4842410000
P = 510510n + 484241

2P + 1 = 2(510510n + 484241) 4+ 1 = 10210201 + 968482 + 1 = 10210201 + 968483
0000010210200 20 2003,5,7,11,13,17000000 1000000

968483 = 131 x 7393 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 457973

gboobgobogobooboboobboobooobuooooboon

Q=4842430000
P = 510510n + 484243

2P + 1 = 2(510510n + 484243) 4+ 1 = 10210201 4 968486 + 1 = 10210200 + 968487
0000010210200 20 2003,5,7,11,13,17000000 10000000

968487 =3 x 13 x 19 x 1307 x 1

oooo
2P + 1 = 39(26180n + 24833)

goooooboOo3ooooooobobooooooooooDobDOoobDOobDOobooboOooo
good

Q=4842470000
P = 5105100 + 484247

2P + 1 =2(510510n + 484247) + 1 = 10210201 + 968494 + 1 = 10210201 + 968495

0000010210200 20 2003,5,7,11,13,17000000 10000000

968495 =5 x 11 x 17609 x 1

oooo
2P + 1 = 55(18564n + 17609)
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Q=4842490000
P = 510510n + 484249

2P + 1 = 2(510510n + 484249) + 1 = 10210201 4 968498 + 1 = 10210201 + 968499
0000010210200 20 2003,5,7,11,13,17000000 10000000

968499 =3 x 3 x 7 x 15373 x 1

oooo
2P + 1 = 21(48620n + 46119)
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good

Q=4842590000
P = 510510n + 484259

2P 4+ 1 = 2(510510n + 484259) + 1 = 10210201 4 968518 + 1 = 1021020n + 968519
0000010210200 20 2003,5,7,11,13,17000000 1000000

968519 = 968519 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 = 510510m + 458009

gbbooggbogoboobbugobboobbooobuoonbagn

Q=484261 0000
P =510510n + 484261

2P 4+ 1 =2(510510n + 484261) + 1 = 10210201 + 968522 + 1 = 10210201 + 968523

0000010210200 20 2003,5,7,11,13,17000000 10000000

968523 = 3 x 113 x 2857 x 1

oooo
2P + 1 = 3(340340n + 322841)
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2P 4+ 1 =2(510510n + 485491) + 1 = 10210201 + 970982 + 1 = 1021020n + 970983
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

970983 =3 x 3 x 13 x 43 x 193 x 1

good
2P + 1 = 39(26180n + 24897)

00000O0ooo3Yoooooooooboooobooobo0oboobobDoooDbOooDbOon
good

Q=485497 0000
P = 510510n + 485497

2P 4+ 1 =2(510510n + 485497) + 1 = 1021020n + 970994 + 1 = 10210201 + 970995

0000010210200 20 2003,5,7,11,13,17000000 10000000

970995 = 3 x 5 x 19 x 3407 x 1
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oooo
2P + 1 = 15(68068n + 64733)

oooooooolboooobooooobobooobooboobooboboooobOoobOoo
good

Q=4855010000
P = 510510n + 485501

2P 4+ 1 = 2(510510n + 485501) 4+ 1 = 10210201 4+ 971002 + 1 = 1021020n + 971003
0000010210200 20 2003,5,7,11,13,17000000 10000000

971003 = 11 x 41 x 2153 x 1

oooo
2P + 1 = 11(92820n + 88273)

oooooooolloooooooooobooooboobooooboooooOob00ooobooboOoooDbOn
oooo

Q=485509 0000
P = 5105100 + 485509

2P + 1 = 2(510510n + 485509) 4 1 = 10210201 + 971018 + 1 = 10210201 + 971019
0000010210200 20 2003,5,7,11,13,17000000 10000000

971019 =3 x 3 x 7 x 15413 x 1

oooo
2P + 1 = 21(48620n + 46239)

gboooboooobo21o0ooboooooobooobooob0o0obooboboooobOoobOoo
goog

Q=4855190000
P = 510510n + 485519

2P + 1 =2(510510n + 485519) + 1 = 1021020n + 971038 + 1 = 1021020n + 971039

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

971039 = 971039 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 460529

ooboobooobooboboobboobbooobooobooo
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Q=4855210000
P = 510510n + 485521

2P + 1 = 2(510510n + 485521) 4 1 = 10210201 4 971042 + 1 = 10210201 + 971043
0000010210200 20 2003,5,7,11,13,17000000 10000000

971043 =3 x 431 x 751 x 1

oooo
2P + 1 = 3(340340n + 323681)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=4855310000
P = 510510n + 485531

2P + 1 = 2(510510n + 485531) 4+ 1 = 10210201 + 971062 + 1 = 10210201 + 971063
0000010210200 20 2003,5,7,11,13,17000000 1000000

971063 = 971063 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 460553

gboboobooobooboboobboobboobooobooo

Q=4855330000
P = 510510n + 485533

2P + 1 =2(510510n + 485533) + 1 = 10210201 + 971066 + 1 = 1021020n + 971067

0000010210200 20 2003,5,7,11,13,17000000 10000000

971067 =3 x 47T x 71 x 97 x 1

oooOo
2P + 1 = 3(340340n + 323689)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=4855390000
P = 510510n + 485539

2P 4+ 1 = 2(510510n + 485539) + 1 = 1021020n + 971078 + 1 = 1021020n + 971079
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0000010210200 20 2003,5,7,11,13,17000000 10000000

971079 = 3 x 89 x 3637 x 1

good
2P + 1 = 3(340340n + 323693)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=4855430000
P = 510510n + 485543

2P + 1 = 2(510510n + 485543) 4+ 1 = 10210201 4+ 971086 + 1 = 10210201 + 971087
0000010210200 20 2003,5,7,11,13,17000000 10000000

971087 = 13 x 74699 x 1

oooo
2P + 1 = 13(78540n + 74699)

goodoOobo0oyoobooOooobOoboobooOooOUoOoOoDOOobDOoOoDLDOobDOoboooboOooo
googo

Q=485549 0000
P = 510510n + 485549

2P + 1 = 2(510510n + 485549) + 1 = 10210201 + 971098 + 1 = 10210201 + 971099
0000010210200 20 2003,5,7,11,13,17000000 1000000

971099 = 971099 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 460589

goboobooobooboboobboobboobooobooo

Q=4855570000
P = 510510n + 485557

2P 4+ 1 =2(510510n + 485557) + 1 = 1021020n + 971114 + 1 = 1021020n + 971115

0000010210200 20 2003,5,7,11,13,17000000 10000000

971115 =3 x5 x 101 x 641 x 1

oooo
2P + 1 = 15(68068n + 64741)
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goog

Q=4855610000
P = 510510n + 485561

2P + 1 = 2(510510n + 485561) 4+ 1 = 10210201 4+ 971122 + 1 = 10210201 + 971123
0000010210200 20 2003,5,7,11,13,17000000 1000000

971123 =29 x 33487 x 1

o000 102102000000000000000

2P +1 = 510510m + 460613

gbooboobooobooboboobboobboooboooboon

Q=485567 0000
P = 510510n + 485567

2P + 1 =2(510510n + 485567) + 1 = 1021020n + 971134 + 1 = 1021020n + 971135

0000010210200 20 2003,5,7,11,13,17000000 10000000

971135 =5 x 11 x 17657 x 1

oooo
2P + 1 = 55(18564n + 17657)

gboogooooosbbooboooooboboooboobooboobonoooobOoobOoon
goog

Q=4855790000
P = 510510n + 485579

2P 4+ 1 =2(510510n + 485579) + 1 = 1021020n + 971158 + 1 = 10210201 + 971159

0000010210200 20 2003,5,7,11,13,17000000 10000000

971159 =7 x 17 x 8161 x 1

oooo
2P + 1 = 119(8580n + 8161)

o00ob00obOo0119yoooooo00o0o0o0obO0obOooOOooOoO00oobOOobOobOoDOobDOobOOn
good

Q=4855810000
P = 510510n + 485581

2P 4+ 1 =2(510510n + 485581) + 1 = 1021020n + 971162 + 1 = 10210201 + 971163
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0000010210200 20 2003,5,7,11,13,17000000 10000000

971163 = 3 x 3 x 3 x 35969 x 1

oooo
2P + 1 = 3(340340n + 323721)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=485587 0000
P = 510510n + 485587

2P + 1 = 2(510510n + 485587) + 1 = 10210201 4+ 971174 + 1 = 10210200 + 971175
0000010210200 20 2003,5,7,11,13,17000000 10000000

971175 =3 x H x5 x 23 x 563 x 1

oooo
2P + 1 = 15(68068n + 64745)

goodoooOolboobooOooobOoboobooOooUooOoDOobOoOobLDOobDOoboooboooo
googo

Q=4855910000
P = 510510n + 485591

2P + 1 = 2(510510n + 485591) 4+ 1 = 10210201 + 971182 + 1 = 10210201 + 971183
0000010210200 20 2003,5,7,11,13,17000000 1000000

971183 =83 x 11701 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 460673

gooboobooobooboboobboobboobuooobooo

Q=4855930000
P = 510510n + 485593

2P + 1 =2(510510n + 485593) + 1 = 10210201 + 971186 + 1 = 1021020n + 971187

0000010210200 20 2003,5,7,11,13,17000000 10000000

971187 =3 x 7 x 103 x 449 x 1

oooo
2P + 1 = 21(48620n + 46247)

180



go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=485599 0000
P = 5105100 + 485599

2P + 1 =2(510510n + 485599) + 1 = 1021020n + 971198 + 1 = 1021020n + 971199
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

971199 =3 x 3 x 31 xH9 xH9 x 1

good
2P + 1 = 3(340340n + 323733)

o00b0o0O0o03000b0000000b00obO0oODoO0bO0obOoDOOobODOoO0oOobOobDOoDOn
goo

Q=485603000 0
P = 510510n + 485603

2P + 1 = 2(510510n + 485603) + 1 = 1021020n + 971206 + 1 = 1021020n + 971207
0000010210200 20 2003,5,7,11,13,17000000 1000000

971207 = 971207 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 460697

gboobgobogoobogbooboobbooboooboooboon

Q=485609 0000
P = 5105100 + 485609

2P + 1 = 2(510510n + 485609) 4+ 1 = 10210201 + 971218 + 1 = 10210201 + 971219
0000010210200 20 2003,5,7,11,13,17000000 1000000
971219 = 433 x 2243 x 1
0000 10210200000000000000
2P + 1 = 510510m + 460709

gbobogobooobooboboobboobbooobuooooboon

Q=4856210000
P = 510510n + 485621

2P 4+ 1 =2(510510n + 485621) + 1 = 1021020n + 971242 + 1 = 1021020n + 971243
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0000010210200 20 2003,5,7,11,13,17000000 10000000

971243 =7 x 13 x 13 x 821 x 1

oooo
2P +1=91(11220n + 10673)

obooboooobo9loooobooOoooboboooboob0oobooboboooobOoobOoo
good

Q=4856230000
P = 5105100 + 485623

2P + 1 = 2(510510n + 485623) + 1 = 10210201 + 971246 + 1 = 10210200 + 971247
0000010210200 20 2003,5,7,11,13,17000000 10000000

971247 = 3 x 421 x 769 x 1

oooo
2P + 1 = 3(340340n + 323749)

gooooooo3sooooooooboo0oOoOobOo0obDOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=485627 0000
P = 510510n + 485627

2P 4+ 1 =2(510510n + 485627) + 1 = 1021020n + 971254 + 1 = 1021020n + 971255
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

971255 =5 x 47 x 4133 x 1

oooo
2P + 1 = 5(204204n + 194251)

oboobobooosO0b0b0obOO0oO0U0O0ObO0ObDOobOUOObO0ObDUObDOobDOobObOObOobDOobDOC
goo

Q=4856290000
P = 5105100 + 485629

2P 4+ 1 =2(510510n + 485629) + 1 = 1021020n + 971258 + 1 = 1021020n + 971259

0000010210200 20 2003,5,7,11,13,17000000 10000000

971259 = 3 x 263 x 1231 x 1

oooo
2P + 1 = 3(340340n + 323753)
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Q=4856330000
P = 510510n + 485633

2P + 1 = 2(510510n + 485633) + 1 = 10210201 4 971266 + 1 = 10210201 + 971267
0000010210200 20 2003,5,7,11,13,17000000 10000000

971267 =11 x 11 x 23 x 349 x 1

oooo
2P + 1 = 11(92820n + 88297)

gobo0obO0oobOlnoooo0oobO0oobOo0ooObO0ooODOO0o0obO0o0obUobDoOooDbOobODbOoo
good

Q=4856470000
P = 5105100 + 485647

2P 4+ 1 = 2(510510n + 485647) + 1 = 10210200 + 971294 + 1 = 10210201 + 971295
0000010210200 20 2003,5,7,11,13,17000000 10000000

971295 =3 x5 x 13 x 17 x 293 x 1

oooo
2P + 1 = 3315(308n + 293)

obooboob3disoboobooboooboooboobobobobooobobobOoboDbOoo
googo

Q=4856510000
P = 510510n + 485651

2P + 1 = 2(510510n + 485651) 4 1 = 10210201 4 971302 + 1 = 10210201 + 971303
0000010210200 20 2003,5,7,11,13,17000000 1000000
971303 = 61 x 15923 x 1
0000 10210200000000000000
2P + 1 = 510510m + 460793

gbooboobooobooboboobboobboooboooboon

Q=4856570000
P = 510510n + 485657

2P 4+ 1 =2(510510n + 485657) + 1 = 1021020n + 971314 + 1 = 1021020n + 971315
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0000010210200 20 2003,5,7,11,13,17000000 10000000

971315 = 5 x 194263 x 1

oooo
2P + 1 = 5(204204n + 194263)

ooobOoobooos0b0b0obOOoO0b0o0b0ObDOobOUOoObO0ObUObDOobDOobObOObOobDOobDOoo
goo

Q=485659 0000
P = 5105100 + 485659

2P + 1 = 2(510510n + 485659) 4+ 1 = 10210201 4+ 971318 4+ 1 = 10210201 4+ 971319
0000010210200 20 2003,5,7,11,13,17000000 10000000

971319 = 3 x 199 x 1627 x 1

oooo
2P + 1 = 3(340340n + 323773)

000000003 000000000000DO000O0000DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=4856630000
P = 510510n + 485663

2P + 1 = 2(510510n + 485663) + 1 = 1021020n + 971326 + 1 = 1021020n + 971327
0000010210200 20 2003,5,7,11,13,17000000 10000000

971327 =7 x 7 x 43 x 461 x 1

0ooo
2P + 1 = 7(145860n + 138761)

goooooogvyoUoooOoooUobOoU0oOOoU0bOoU0UDOOoUbDOoUbObOUDbDOUOobDbOUODbOO
goo

Q=485669 0000
P = 510510n + 485669

2P 4+ 1 =2(510510n + 485669) + 1 = 10210201 + 971338 + 1 = 1021020n + 971339

0000010210200 20 2003,5,7,11,13,17000000 1000000

971339 = 971339 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 460829

184



gboboobogobogoboboobboobooobooooboon

Q=4856710000
P = 5105100 + 485671

2P 4+ 1 =2(510510n + 485671) + 1 = 10210201 + 971342 + 1 = 1021020n + 971343

0000010210200 20 2003,5,7,11,13,17000000 10000000

971343 =3 x 3 x 107927 x 1

oooo
2P + 1 = 3(340340n + 323781)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=4856770000
P = 5105100 + 485677

2P + 1 =2(510510n + 485677) + 1 = 1021020n + 971354 + 1 = 10210201 + 971355

0000010210200 20 2003,5,7,11,13,17000000 10000000

971350 =3 x5 xT7Tx11x29x29 x 1

oooo
2P + 1 = 1155(884n + 841)

oboooboobllssobooboobooobooboobobobobooobuobobooDbOoo
googo

Q=485687 0000
P = 510510n + 485687

2P 4+ 1 =2(510510n + 485687) + 1 = 1021020n + 971374 + 1 = 1021020n + 971375

0000010210200 20 2003,5,7,11,13,17000000 10000000

971375 =5 x5 x Hx 19 x 409 x 1

oooo
2P + 1 = 5(204204n + 194275)

ooooooooboso0ooooobobooooooobooooooobooOobobooooobbBbOoOn
ooo

Q=485639 0000
P = 5105100 + 485689

2P 4+ 1 =2(510510n + 485689) + 1 = 1021020n + 971378 + 1 = 1021020n + 971379
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0000010210200 20 2003,5,7,11,13,17000000 10000000

971379 =3 x 3 x 3 x 35977 x 1

oooo
2P + 1 = 3(340340n + 323793)

oboobobooo3oboboboooooboboooOobOobUoboobDoooobOobDoobooo
goo

Q=485699 0000
P = 5105100 + 485699

2P + 1 = 2(510510n + 485699) 4+ 1 = 10210201 4+ 971398 + 1 = 10210201 4+ 971399
0000010210200 20 2003,5,7,11,13,17000000 10000000

971399 = 11 x 13 x 6793 x 1

ooono
2P + 1 = 143(7140n + 6793)

00000000143 0000000000000000000000000O000DOO00DOO0
good

Q=4857010000
P = 510510n + 485701

2P + 1 = 2(510510n + 485701) + 1 = 1021020n + 971402 + 1 = 1021020n + 971403
0000010210200 20 2003,5,7,11,13,17000000 10000000

971403 = 3 x 323801 x 1

0ooo
2P + 1 = 3(340340n + 323801)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=4857110000
P = 510510n + 485711

2P + 1 =2(510510n + 485711) + 1 = 1021020n + 971422 + 1 = 1021020n + 971423

0000010210200 20 2003,5,7,11,13,17000000 1000000

971423 = 127 x 7649 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 460913
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Q=4857130000
P = 5105100 + 485713

2P + 1 = 2(510510n + 485713) 4+ 1 = 10210201 4 971426 + 1 = 10210200 + 971427
0000010210200 20 2003,5,7,11,13,17000000 10000000

971427 =3 x 181 x 1789 x 1

oooo
2P + 1 = 3(340340n + 323809)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=4857170000
P = 510510n + 485717

2P + 1 = 2(510510n + 485717) 4+ 1 = 10210201 4 971434 + 1 = 10210200 + 971435
0000010210200 20 2003,5,7,11,13,17000000 10000000

971435 =5 x 37 x 59 x 89 x 1

oooo
2P + 1 = 5(204204n + 194287)

oboobobooosUObUobUobOOoOobo0obU0bDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=4857290000
P = 510510n + 485729

2P 4+ 1 = 2(510510n + 485729) + 1 = 10210201 4 971458 + 1 = 1021020n + 971459
0000010210200 20 2003,5,7,11,13,17000000 1000000
971459 = 397 x 2447 x 1
0000 10210200000000000000
2P + 1 = 510510m + 460949

goooooboobooboooobooboobooobobOooboboOoOoobooooDon

Q=4857310000
P = 510510n + 485731

2P + 1 =2(510510n + 485731) + 1 = 1021020n + 971462 + 1 = 1021020n + 971463
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0000010210200 20 2003,5,7,11,13,17000000 10000000

971463 = 3 x 79 x 4099 x 1

oooo
2P + 1 = 3(340340n + 323821)

obooboobooo3oboboboooooboboooOobOobUoboDoboDobooobOobDoooo
goo

Q=4857430000
P = 5105100 + 485743

2P + 1 = 2(510510n + 485743) 4+ 1 = 10210201 4+ 971486 + 1 = 10210201 + 971487
0000010210200 20 2003,5,7,11,13,17000000 10000000

971487 =3 x 3 x 3 x 11 x 3271 x 1

good
2P + 1 = 33(30940n + 29439)

0000000033 0000000000000000DO00DO00DbO0ODODOODODOODODbDOD
good

Q=4857470000
P = 510510n + 485747

2P + 1 = 2(510510n + 485747) + 1 = 1021020n + 971494 + 1 = 1021020n + 971495
0000010210200 20 2003,5,7,11,13,17000000 10000000

971495 =5 x 7T x 41 x 677 x 1

oooo
2P + 1 = 35(29172n + 27757)

go0odoOooOosoobobo0ooobobobooUobooo0oDOobDUo0oDUobDoboboboUooog
goodg

Q=4857530000
P = 510510n + 485753

2P 4+ 1 =2(510510n + 485753) + 1 = 10210201 + 971506 + 1 = 1021020n 4+ 971507

0000010210200 20 2003,5,7,11,13,17000000 1000000

971507 = 439 x 2213 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 460997
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Q=4857590000
P = 5105100 + 485759

2P + 1 = 2(510510n + 485759) 4+ 1 = 10210201 + 971518 4+ 1 = 10210201 4+ 971519
0000010210200 20 2003,5,7,11,13,17000000 1000000

971519 =101 x 9619 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 461009

gbbogbogobogbbgobbooboooobuoonobagn

Q=4857610000
P = 510510n + 485761

2P + 1 =2(510510n + 485761) + 1 = 1021020n + 971522 + 1 = 1021020n + 971523

0000010210200 20 2003,5,7,11,13,17000000 10000000

971523 =3 X I X 7T x 7 x 2203 x 1

oooo
2P + 1 = 21(48620n + 46263)

obo0obO0oobo210000b00ob000obObooo0b00oo0bD0o0ob0oobUobDUoooDbOobobOoo
good

Q=4857670000
P = 510510n + 485767

2P + 1 =2(510510n + 485767) + 1 = 1021020n + 971534 + 1 = 10210201 + 971535

0000010210200 20 2003,5,7,11,13,17000000 10000000

971535 =3 x H x 239 x 271 x 1

oooo
2P + 1 = 15(68068n + 64769)

goooooboOoboobooOooobOoboobooUooOUooOoDOobDOoOoDLDUobDOobobooboOooboo
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Q=4857730000
P = 510510n + 485773

2P + 1 =2(510510n + 485773) + 1 = 10210201 + 971546 + 1 = 1021020n + 971547
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0000010210200 20 2003,5,7,11,13,17000000 10000000

971547 =3 x 61 x 5309 x 1

oooo
2P + 1 = 3(340340n + 323849)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q=4857770000
P = 5105100 + 485777

2P + 1 = 2(510510n + 485777) 4+ 1 = 10210201 4+ 971554 + 1 = 10210201 + 971555
0000010210200 20 2003,5,7,11,13,17000000 10000000

971555 =5 x 13 x 14947 x 1

oooo
2P + 1 = 65(15708n + 14947)

oooOooOoboOe 000000 0ODODOOOOOOOOODODOODODObDODODOOOO
good

Q=485783 0000
P = 510510n + 485783

2P 4+ 1 =2(510510n + 485783) + 1 = 10210201 + 971566 + 1 = 1021020n + 971567
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

971567 = 17 x 67 x 853 x 1

oooO
2P + 1 = 17(60060n + 57151)

obooboooboivyoooobooOoU0oobObooo0bOoob0o0obUoobUoboooobOobobOoo
goog

Q=485789 0000
P = 5105100 + 485789

2P 4+ 1 =2(510510n + 485789) + 1 = 1021020n + 971578 + 1 = 1021020n + 971579

0000010210200 20 2003,5,7,11,13,17000000 10000000

971579 =7 x 138797 x 1

oooo
2P + 1 = 7(145860n + 138797)
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Q=4857910000
P = 510510n + 485791

2P + 1 = 2(510510n + 485791) 4+ 1 = 10210201 4 971582 + 1 = 10210201 + 971583
0000010210200 20 2003,5,7,11,13,17000000 10000000

971583 = 3 x 37 x 8753 x 1

oooo
2P + 1 = 3(340340n + 323861)

g00ob0obO0oo03000b0b00oo0ooboobDooDobObO0obOoDOOobDOobO0oobOobDOoDOn
goo

Q=4853010000
P = 510510n + 485801

2P 4+ 1 = 2(510510n + 485801) + 1 = 10210201 4+ 971602 + 1 = 1021020n + 971603
0000010210200 20 2003,5,7,11,13,17000000 1000000

971603 = 19 x 51137 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 461093

gbbogbogobogbbgobbooboooobuoonobagn

Q=4858030000
P = 510510n + 485803

2P 4+ 1 =2(510510n + 485803) + 1 = 10210201 + 971606 + 1 = 1021020n + 971607

0000010210200 20 2003,5,7,11,13,17000000 10000000

971607 =3 x 7 x 13 x 3559 x 1

0ooo
2P + 1 = 273(3740n + 3559)

O00o0OO0bOoo273000000000000DbOO0ODODO0ODODO0OO0O0DDOO0ObOO0ODODODObOOn
good

Q=4858130000
P = 510510n + 485813

2P 4+ 1 =2(510510n + 485813) + 1 = 10210201 + 971626 + 1 = 1021020n + 971627

191



0000010210200 20 2003,5,7,11,13,17000000 1000000

971627 = 131 x 7417 x 1

oooo 10210200 000000000000

2P +1 =510510m + 461117

goboobooobooboboobboobbooboooboon

Q=4858190000
P = 510510n + 485819

2P + 1 = 2(510510n + 485819) 4+ 1 = 10210201 + 971638 + 1 = 10210201 + 971639
0000010210200 20 2003,5,7,11,13,17000000 1000000

971639 = 971639 x 1

o000 102102000000000000000

2P +1 =510510m + 461129

gboobgobogobooboboobboobooobuooooboon

Q=4858270000
P = 5105100 + 485827

2P + 1 = 2(510510n + 485827) 4+ 1 = 10210201 4+ 971654 + 1 = 10210201 + 971655
0000010210200 20 2003,5,7,11,13,17000000 10000000

971655 =3 x 5 x 211 x 307 x 1

oooo
2P + 1 = 15(68068n + 64777)

goooooboOobhoobooooobOobooooUoooooDoOobDOooDOobDOoboooboOooo
good

Q=4858310000
P = 510510n + 485831

2P + 1 =2(510510n + 485831) + 1 = 1021020n + 971662 + 1 = 10210201 + 971663

0000010210200 20 2003,5,7,11,13,17000000 10000000

971663 = 7 x 11 x 12619 x 1

oooo
2P + 1 ="77(13260n + 12619)

192



gooooOoogywooOooOooUobOobooooUooUooooDOobDOooDOobDOoboooooog
goog

Q=4858330000
P = 510510n + 485833

2P + 1 =2(510510n + 485833) + 1 = 10210201 + 971666 + 1 = 1021020n + 971667

0000010210200 20 2003,5,7,11,13,17000000 10000000

971667 = 3 x 3 x 107 x 1009 x 1

good
2P + 1 = 3(340340n + 323889)

o00ob0ooO0oo030b00b0oooo0ooboobDooDoboboobobODobDobOoobOoDOoDOon
goo

Q=4858390000
P = 510510n + 485839

2P 4+ 1 =2(510510n + 485839) + 1 = 1021020n + 971678 + 1 = 10210201 + 971679

0000010210200 20 2003,5,7,11,13,17000000 10000000

971679 =3 x 19 x 17047 x 1

oooo
2P + 1 = 3(340340n + 323893)

gooooooOo3sooboooooUoobo0oOoU0bOoUbDOoUobDOoUobDbOUbDOoUobDboUDboOoO
ooo

Q=4858510000
P = 510510n + 485851

2P + 1 = 2(510510n + 485851) 4+ 1 = 10210201 + 971702 + 1 = 10210201 + 971703
0000010210200 20 2003,5,7,11,13,17000000 10000000

971703 =3 x I x I x 17 x29 x 713 x 1

oooo
2P + 1 = 51(20020n + 19053)

o0o0obooooslboooboboobooobobooobooobooboobobooooDbOoobOoo
good

Q=485857 0000
P = 5105100 -+ 485857

193



2P + 1 =2(510510n + 485857) + 1 = 1021020n + 971714 + 1 = 1021020n + 971715

0000010210200 20 2003,5,7,11,13,17000000 10000000

971715 =3 x 5 x 64781 x 1

oooo
2P + 1 = 15(68068n + 64781)

obooooooloooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=4853610000
P = 510510n + 485861

2P + 1 = 2(510510n + 485861) 4+ 1 = 1021020n + 971722 + 1 = 10210201 + 971723
0000010210200 20 2003,5,7,11,13,17000000 1000000

971723 = 971723 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 461213

gboboobooobooboboobboobboobooobooo

Q=4858670000
P = 510510n + 485867

2P + 1 = 2(510510n + 485867) + 1 = 10210201 4 971734 + 1 = 10210201 + 971735
0000010210200 20 2003,5,7,11,13,17000000 10000000

971735 =5 x 109 x 1783 x 1

oooo
2P + 1 = 5(204204n + 194347)

obobobooosUOb0obUobOOobobo0obOobDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=485869 0000
P = 5105100 + 485869

2P 4+ 1 =2(510510n + 485869) + 1 = 10210201 + 971738 + 1 = 1021020n + 971739

0000010210200 20 2003,5,7,11,13,17000000 10000000

971739 = 3 x 3 x 107971 x 1

194



oooo
2P + 1 = 3(340340n + 323913)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=4858730000
P = 510510n + 485873

2P 4+ 1 = 2(510510n + 485873) + 1 = 10210200 + 971746 + 1 = 10210200 + 971747
0000010210200 20 2003,5,7,11,13,17000000 10000000

971747 =7 x 138821 x 1

ooono
2P + 1 = 7(145860n + 138821)

oooooooovoooooobooboooooooboooooooDooOobOboOoooobObOBbOoOn
ooo

Q=4858790000
P = 5105100 + 485879

2P + 1 = 2(510510n + 485879) 4+ 1 = 10210201 + 971758 + 1 = 10210201 + 971759
0000010210200 20 2003,5,7,11,13,17000000 1000000
971759 = 971759 x 1
0000 10210200000000000000
2P + 1 = 510510m + 461249

gboboobogobogbooboobboobbooobuoooboon

Q=485887 0000
P = 5105100 + 485887

2P + 1 =2(510510n + 485887) + 1 = 1021020n + 971774 + 1 = 1021020n + 971775

0000010210200 20 2003,5,7,11,13,17000000 10000000

971775 =3 x 3 X5 x5 x7Tx617x1

oooo
2P 4+ 1 =105(9724n + 9255)

gooooooOolesboboObboOo00ooOOo0obDOoUOoDOOUDObOObOOoOOOODOoUODOO
good

195



Q=4858030000
P = 510510n + 485893

2P + 1 =2(510510n + 485893) + 1 = 1021020n + 971786 + 1 = 1021020n + 971787

0000010210200 20 2003,5,7,11,13,17000000 10000000

971787 = 3 x 227 x 1427 x 1

oooo
2P + 1 = 3(340340n + 323929)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=485897 0000
P = 510510n + 485897

2P 4+ 1 =2(510510n + 485897) + 1 = 10210201 + 971794 + 1 = 1021020n + 971795

0000010210200 20 2003,5,7,11,13,17000000 10000000

971795 =5 x 11 x 17669 x 1

oooOo
2P + 1 = 55(18564n + 17669)

O00o0obO0ooos bbb boob0booo0bo0oboobobDoooDbOoboDbOoo
good

Q =485809 000 O
P = 510510n + 485899

2P 4+ 1 =2(510510n + 485899) + 1 = 1021020n + 971798 + 1 = 10210201 + 971799

0000010210200 20 2003,5,7,11,13,17000000 10000000

971799 = 3 x 323933 x 1

oooo
2P + 1 = 3(340340n + 323933)

gooooooOo3o0boooooobooU0OoOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUODoOoO
oono

Q=485909 0000
P = 510510n + 485909

2P 4+ 1 =2(510510n + 485909) + 1 = 1021020n + 971818 + 1 = 1021020n + 971819

196



0000010210200 20 2003,5,7,11,13,17000000 1000000

971819 =23 x 29 x 31 x 47 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 461309

goboobooobooboboobboobbooboooboon

Q=4859170000
P = 5105100 + 485917

2P + 1 = 2(510510n + 485917) + 1 = 10210201 4 971834 + 1 = 10210201 + 971835
0000010210200 20 2003,5,7,11,13,17000000 10000000

971835 =3 x 5 X 67 x 967 x 1

oooo
2P 4 1 = 15(68068n + 64789)

goboooooolibooobobooooobobooobooobooboobobooooboobOoo
good

Q=4859210000
P = 510510n + 485921

2P + 1 =2(510510n + 485921) + 1 = 1021020n + 971842 + 1 = 1021020n + 971843
oo000gl10210200 20 2003,5,7,11,13,170 00000 1000000
971843 =43 x 97 x 233 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 461333

oooboobooobooboboobboobboobooobooo

Q=4859230000
P = 510510n + 485923

2P + 1 =2(510510n + 485923) + 1 = 10210201 + 971846 + 1 = 1021020n + 971847

0000010210200 20 2003,5,7,11,13,17000000 10000000

971847 =3 x 3 x 83 x 1301 x 1

oooo
2P + 1 = 3(340340n + 323949)

197



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4859290000
P = 510510n + 485929

2P + 1 = 2(510510n + 485929) + 1 = 10210201 + 971858 + 1 = 10210201 + 971859
0000010210200 20 2003,5,7,11,13,17000000 10000000

971859 = 3 x 7 x 46279 x 1

oooo
2P + 1 = 21(48620n + 46279)

O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=4859390000
P = 510510n + 485939

2P 4+ 1 = 2(510510n + 485939) + 1 = 10210201 4+ 971878 + 1 = 1021020n + 971879
0000010210200 20 2003,5,7,11,13,17000000 1000000

971879 = 37 x 26267 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 461369

gbbogbogobogbbgobbooboooobuoonobagn

Q=4859410000
P = 510510n + 485941

2P 4+ 1 =2(510510n + 485941) + 1 = 10210201 + 971882 + 1 = 10210201 + 971883

0000010210200 20 2003,5,7,11,13,17000000 10000000

971883 =3 x 3 x 11 x 9817 x 1

0ooo
2P + 1 = 33(30940n + 29451)

0000000033000 000000boo0oo0o0oo0DO0o0oDbD0o0obUoDoOooDbOooODbOon
good

Q=4859510000
P = 510510n + 485951

2P 4+ 1 =2(510510n + 485951) + 1 = 1021020n + 971902 + 1 = 10210201 + 971903

198



0000010210200 20 2003,5,7,11,13,17000000 1000000

971903 = 971903 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 461393

goboobooobooboboobboobbooboooboon

Q=4859570000
P = 510510n -+ 485957

2P + 1 = 2(510510n + 485957) + 1 = 10210201 4 971914 + 1 = 10210201 + 971915
0000010210200 20 2003,5,7,11,13,17000000 10000000

971915 =5 x 7 x 7 x 3967 x 1

oooo
2P + 1 = 35(29172n + 27769)

obooboooos3booobobooooobobooobooboobooboboooobOoobOoo
good

Q=485959 0000
P = 5105100 + 485959

2P + 1 = 2(510510n + 485959) 4+ 1 = 10210201 4+ 971918 + 1 = 10210201 4+ 971919
0000010210200 20 2003,5,7,11,13,17000000 10000000

971919 =3 x3x3x3x13x13x 71l x1

oooo
2P 4 1 = 39(26180n + 24921)

ooooooboOo3ooooooob0obooooobooooDoobDOoobDOobDobooboOooo
good

Q=4859630000
P = 510510n + 485963

2P + 1 =2(510510n + 485963) + 1 = 10210201 + 971926 + 1 = 1021020n + 971927

0000010210200 20 2003,5,7,11,13,17000000 10000000

971927 =11 x 149 x 593 x 1

oooo
2P + 1 =11(92820n + 88357)

199



gboooooobonooooobooooooboooboobo0obooboboooobOoobOoo
goog

Q=485971 0000
P = 510510n + 485971

2P + 1 = 2(510510n + 485971) 4 1 = 10210201 4 971942 + 1 = 10210201 + 971943
0000010210200 20 2003,5,7,11,13,17000000 10000000

971943 =3 x 7 x 31 x 1493 x 1

oooo
2P + 1 = 21(48620n + 46283)

O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=4859770000
P = 510510n + 485977

2P 4+ 1 = 2(510510n + 485977) + 1 = 10210201 + 971954 + 1 = 10210201 + 971955
0000010210200 20 2003,5,7,11,13,17000000 10000000

971955 =3 x 3 x 5 x 21599 x 1

oooOo
2P + 1 = 15(68068n + 64797)

ooooooooiboooobooooobobooobooboobooboboooobOoobOoo
good

Q=485981 0000
P = 510510n + 485981

2P + 1 = 2(510510n + 485981) 4 1 = 10210201 4+ 971962 + 1 = 10210201 + 971963
0000010210200 20 2003,5,7,11,13,17000000 1000000
971963 = 823 x 1181 x 1
0000 10210200000000000000
2P + 1 = 510510m + 461453

gbooboobooobooboboobboobboooboooboon

Q=485983 0000
P = 510510n + 485983

2P 4+ 1 =2(510510n + 485983) + 1 = 10210201 + 971966 + 1 = 1021020n 4 971967

200



0000010210200 20 2003,5,7,11,13,17000000 10000000

971967 =3 x 53 x 6113 x 1

good
2P + 1 = 3(340340n + 323989)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=485987 0000
P = 510510n + 485987

2P + 1 = 2(510510n + 485987) + 1 = 10210201 4 971974 + 1 = 10210201 + 971975
0000010210200 20 2003,5,7,11,13,17000000 10000000

971975 =5 x 5 x 17 x 2287 x 1

oooo
2P + 1 =85(12012n + 11435)

gooOdoOooOosoOobobooooboboobooobooo0ooDobDoobDobDobooboOooog
googo

Q=4859930000
P = 510510n + 485993

2P + 1 = 2(510510n + 485993) + 1 = 10210201 + 971986 + 1 = 10210201 + 971987
0000010210200 20 2003,5,7,11,13,17000000 1000000

971987 =41 x 151 x 157 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 461477

goboobooobooboboobboobboobooobooo

Q=485999 0000
P = 510510n + 485999

2P + 1 =2(510510n + 485999) + 1 = 10210201 + 971998 + 1 = 10210201 + 971999

0000010210200 20 2003,5,7,11,13,17000000 10000000

971999 =7 x 191 x 727 x 1

oooo
2P + 1 = 7(145860n + 138857)

201



goooooogvyoUooOOoO0oOoU0OOoU0OO0DOOU0DOOoU0ODOU0ODOOUODOODOOUODOO
goo

Q=4860010000
P = 510510n + 486001

2P 4+ 1 =2(510510n + 486001) + 1 = 10210201 + 972002 + 1 = 1021020n + 972003

0000010210200 20 2003,5,7,11,13,17000000 10000000

972003 = 3 x 23 x 14087 x 1

oooo
2P + 1 = 3(340340n + 324001)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q =4860070000
P = 510510n + 486007

2P 4+ 1 =2(510510n + 486007) + 1 = 1021020n + 972014 + 1 = 10210201 + 972015

0000010210200 20 2003,5,7,11,13,17000000 10000000

972015 =3 x 5 x 11 x 43 x 137 x 1

oooo
2P + 1 = 165(6188n + 5891)

gooodOoboOoles0dboOOO0OO00ODOO0ODOODOUODOODOOO0OOOUODOUODOO
good

Q=4860110000
P = 510510n + 486011

2P + 1 = 2(510510n + 486011) 4 1 = 10210201 + 972022 + 1 = 10210201 + 972023
0000010210200 20 2003,5,7,11,13,17000000 10000000

972023 = 13 x 74771 x 1

ogooo
2P + 1 = 13(78540n + 74771)

oboobooobooooooooooboboooboooboobooboboooobOoobOoo
good

Q=4860190000
P = 5105100 + 486019

202



2P + 1 =2(510510n + 486019) + 1 = 1021020n + 972038 + 1 = 1021020n + 972039

0000010210200 20 2003,5,7,11,13,17000000 10000000

972039 = 3 x 457 x 709 x 1

oooo
2P + 1 = 3(340340n + 324013)

gooooooOo300boo0ooU0ooU0ooU0bOoUDOOoUoDOoUbObOUDOoObDbOUDoOO
goo

Q =4860230000
P = 510510n + 486023

2P + 1 = 2(510510n + 486023) + 1 = 10210201 4 972046 + 1 = 10210201 + 972047
0000010210200 20 2003,5,7,11,13,17000000 1000000

972047 = 972047 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 461537

gboboobooobooboboobboobboobooobooo

Q=4860290000
P = 510510n + 486029

2P + 1 = 2(510510n + 486029) 4 1 = 10210201 4+ 972058 + 1 = 10210201 + 972059
0000010210200 20 2003,5,7,11,13,17000000 10000000

972059 = 11 x 19 x 4651 x 1

oooo
2P + 1 =11(92820n + 88369)

oooobooobolnooooboooooboboooboob0oobooboboooobOoobOoo
good

Q=4860370000
P = 510510n + 486037

2P 4+ 1 =2(510510n + 486037) + 1 = 1021020n + 972074 + 1 = 1021020n + 972075

0000010210200 20 2003,5,7,11,13,17000000 10000000

972075 =3 x H x5 x 13 x 997 x 1

203



oooo
2P + 1 = 195(5236n + 4985)

O0000bOo019%9 0000000000000 0DO000O0000DO0DOO0ODOODOODOODOO0
good

Q=4860410000
P = 510510n + 486041

2P + 1 = 2(510510n + 486041) + 1 = 10210200 + 972082 + 1 = 10210201 + 972083
0000010210200 20 2003,5,7,11,13,17000000 10000000

972083 =7 x 138869 x 1

oooo
2P + 1 = 7(145860n + 138869)

o0o0ooooOovyoO0o0o0oOo0oOOo00OO00DOO0DOD00DOO00DODOO0DODO0ODODODOOO
goo

Q=1486043 0000
P = 510510n + 486043

2P + 1 = 2(510510n + 486043) + 1 = 10210201 4 972086 + 1 = 10210201 + 972087
0000010210200 20 2003,5,7,11,13,17000000 10000000

972087 =3 x 173 x 1873 x 1

oooo
2P + 1 = 3(340340n + 324029)

obooboobooo3oboboboooooboboooobobobooboDooboobOobDoooo
goo

Q=486049 0000
P = 5105100 + 486049

2P 4+ 1 =2(510510n + 486049) + 1 = 10210201 + 972098 + 1 = 10210201 + 972099

oo000010210200 20 2003,5,7,11,13,17000000 10000000

972099 = 3 x 3 x 108011 x 1

good
2P + 1 = 3(340340n + 324033)

gooooooOo3soUobooobooUoboOoU0oOoU0bOoUbDOoUbDOoUbDbOUDbDOoOobDbOUODoOO
oono

204



Q=4860530000
P = 510510n + 486053

2P + 1 = 2(510510n + 486053) 4+ 1 = 10210201 4+ 972106 + 1 = 10210201 + 972107
0000010210200 20 2003,5,7,11,13,17000000 1000000

972107 = 167 x 5821 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 461597

gbobooobogobooboboobboobooobuoooboon

Q=486061 0000
P = 510510n + 486061

2P 4+ 1 =2(510510n + 486061) + 1 = 10210201 + 972122 + 1 = 10210201 + 972123

0000010210200 20 2003,5,7,11,13,17000000 10000000

972123 =3 x 251 x 1291 x 1

oooo
2P + 1 = 3(340340n + 324041)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q =4860670000
P = 510510n + 486067

2P + 1 =2(510510n + 486067) + 1 = 1021020n + 972134 + 1 = 1021020n + 972135

0000010210200 20 2003,5,7,11,13,17000000 10000000

972135 =3 x3x3 x5 x19x 379 x1

oooOo
2P + 1 = 15(68068n + 64809)

ooboooooolibooooboooooboboooboooboobooboboooobOoobOoo
good

Q=4860710000
P = 510510n + 486071

2P 4+ 1 =2(510510n + 486071) + 1 = 1021020n + 972142 + 1 = 1021020n + 972143

205



0000010210200 20 2003,5,7,11,13,17000000 1000000

972143 = 59 x 16477 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 461633

goboobooobooboboobboobbooboooboon

Q=4860770000
P = 5105100 + 486077

2P + 1 = 2(510510n + 486077) 4+ 1 = 10210201 4 972154 + 1 = 10210200 + 972155
0000010210200 20 2003,5,7,11,13,17000000 10000000

972155 =5 x 194431 x 1

oooo
2P + 1 = 5(204204n + 194431)

gbooboooosO0Ob0obU0obOUobObo0obU0obDOobOUobObUObUObDOobDOobObOObOobDOobDOoo
goo

Q=486089 0000
P = 5105100 + 486089

2P + 1 = 2(510510n + 486089) 4 1 = 10210201 4+ 972178 4+ 1 = 10210201 + 972179
0000010210200 20 2003,5,7,11,13,17000000 10000000

972179 =13 x 17T x 53 x 83 x 1

oooo
2P + 1 = 221(4620n + 4399)

oopooooboo221000000000000DOO0O0OOO0OOO0obDO0O0O00ODOOODOO
good

Q=4860910000
P = 510510n + 486091

2P + 1 =2(510510n + 486091) + 1 = 1021020n + 972182 + 1 = 10210201 + 972183

0000010210200 20 2003,5,7,11,13,17000000 10000000

972183 = 3 x 367 x 883 x 1

oooo
2P + 1 = 3(340340n + 324061)

206



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q =486097 0000
P = 510510n + 486097

2P 4+ 1 =2(510510n + 486097) + 1 = 10210201 + 972194 + 1 = 1021020n + 972195

0000010210200 20 2003,5,7,11,13,17000000 10000000

972195 =3 x5 X 7T x 47 x 197 x 1

oooo
2P 4+ 1 =105(9724n + 9259)

go0obOobOools0ob0oo0oo0o0oooboobooOooOob0oobOobOobOoDOooboDOoboon
good

Q=4861030000
P = 510510n + 486103

2P + 1 =2(510510n + 486103) + 1 = 10210201 + 972206 + 1 = 1021020n + 972207

0000010210200 20 2003,5,7,11,13,17000000 10000000

972207 = 3 x 3 x 108023 x 1

oooo
2P + 1 = 3(340340n + 324069)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=4861070000
P = 510510n + 486107

2P + 1 = 2(510510n + 486107) + 1 = 10210201 + 972214 + 1 = 10210201 + 972215
0000010210200 20 2003,5,7,11,13,17000000 10000000

972215 =5 x 194443 x 1

oooo
2P + 1 = 5(204204n + 194443)

g0oboboOoos0b0b0obO0ob0U0o0b0bOobOUoO0bO0OobOobOOobDOobO0oobUobDOobDOoo
goo

Q=4861130000
P = 5105100 + 486113

207



2P + 1 =2(510510n + 486113) + 1 = 10210201 + 972226 + 1 = 1021020n + 972227

0000010210200 20 2003,5,7,11,13,17000000 1000000

972227 = 972227 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m + 461717

gboboobogobogoboboobboobooobooooboon

Q=4861190000
P = 510510 + 486119

2P + 1 = 2(510510n + 486119) 4+ 1 = 10210201 4+ 972238 + 1 = 10210201 + 972239
0000010210200 20 2003,5,7,11,13,17000000 1000000

972239 = 317 x 3067 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 461729

gbbooggbogoboobbugobboobbooobuoonbagn

Q=486121 0000
P =510510n + 486121

2P + 1 =2(510510n + 486121) + 1 = 1021020n + 972242 + 1 = 1021020n + 972243
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

972243 =3 x 3 x3x3x3x4001 x1

oooo
2P + 1 = 3(340340n + 324081)

o00ob0ooO0oo030b00b0oboooooboobooDoboboobobDobDobOoobOobDOobDOon
goo

Q=4861270000
P = 5105100 + 486127

2P 4+ 1 =2(510510n + 486127) + 1 = 1021020n + 972254 + 1 = 1021020n + 972255

0000010210200 20 2003,5,7,11,13,17000000 10000000

972255 =3 x 5 x 64817 x 1

208



oooo
2P + 1 = 15(68068n + 64817)

oooooooolboooobooooobobooobooboobooboboooobOoobOoo
good

Q=486131 0000
P =510510n + 486131

2P 4+ 1 = 2(510510n + 486131) 4+ 1 = 10210201 4 972262 + 1 = 1021020n + 972263
0000010210200 20 2003,5,7,11,13,17000000 1000000

972263 = 972263 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 461753

goooooboobooboooobooboobooooboobboOoOoooooDon

Q =4861330000
P = 510510n + 486133

2P + 1 = 2(510510n + 486133) + 1 = 10210201 4 972266 + 1 = 10210201 + 972267
0000010210200 20 2003,5,7,11,13,17000000 10000000

972267 = 3 x 324089 x 1

good
2P + 1 = 3(340340n + 324089)

g0obOobooo30bobobooooobobooDoobooboboDobDobooobOobOobDOoo
goo

Q=4861370000
P = 5105100 + 486137

2P + 1 =2(510510n 4 486137) + 1 = 1021020n + 972274 + 1 = 1021020n + 972275

0000010210200 20 2003,5,7,11,13,17000000 10000000

972275 =5 x 5 x 38891 x 1

oooo
2P + 1 = 5(204204n + 194455)

gooooooUdsOoUObOOoO0bOOObOOUObOO0ODbDOU0ODOODOODOODOODOUODOO
goo

209



Q=4861390000
P = 510510n + 486139

2P + 1 =2(510510n + 486139) + 1 = 1021020n + 972278 + 1 = 1021020n + 972279

0000010210200 20 2003,5,7,11,13,17000000 10000000

972279 =3 x 3 x T7Tx 11 x23 x61 x1

oooo
2P + 1 = 231(4420n + 4209)

OO000o0d0oOOo23l000o00d0oo00oo00oDooooodoo0bo0ooooooDOooDoo
goog

Q=486151 0000
P =510510n + 486151

2P 4+ 1 =2(510510n + 486151) + 1 = 10210201 + 972302 + 1 = 1021020n + 972303

0000010210200 20 2003,5,7,11,13,17000000 10000000

972303 = 3 x 324101 x 1

oooo
2P + 1 = 3(340340n + 324101)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=4861630000
P = 510510n + 486163

2P + 1 =2(510510n + 486163) + 1 = 10210201 + 972326 + 1 = 1021020n + 972327

0000010210200 20 2003,5,7,11,13,17000000 10000000

972327 =3 x 101 x 3209 x 1

oooo
2P + 1 = 3(340340n + 324109)

gooooooOo3o0boooooobooU0OoOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUODoOoO
oono

Q=486169 0000
P = 510510n + 486169

2P + 1 =2(510510n + 486169) + 1 = 1021020n + 972338 + 1 = 10210201 + 972339

210



0000010210200 20 2003,5,7,11,13,17000000 10000000

972339 = 3 x 324113 x 1

oooo
2P + 1 = 3(340340n + 324113)

ooobobooo3obobobooooobobooDoobobooDoboDobooobUobDOooDOoo
goo

Q=4861730000
P = 5105100 + 486173

2P + 1 = 2(510510n + 486173) 4+ 1 = 10210201 4 972346 + 1 = 10210200 + 972347
0000010210200 20 2003,5,7,11,13,17000000 1000000

972347 = 972347 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 461837

gboboobogobooboboobboobbooobuoonobaon

Q=4861790000
P = 510510n + 486179

2P + 1 =2(510510n + 486179) + 1 = 1021020n + 972358 + 1 = 1021020n + 972359
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
972359 =43 x 22613 x 1
Ooooo 10210200 000000000000
2P +1 =510510m + 461849

oooboobooobooboboobboobboobooobooo

Q=486181 0000
P =510510n + 486181

2P + 1 =2(510510n + 486181) + 1 = 10210201 + 972362 + 1 = 10210201 + 972363

0000010210200 20 2003,5,7,11,13,17000000 10000000

972363 =3 x 7 x 19 x 2437 x 1

oooo
2P + 1 = 21(48620n + 46303)

211



go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=486191 0000
P =510510n + 486191

2P + 1 =2(510510n + 486191) + 1 = 1021020n + 972382 + 1 = 1021020n + 972383

0000010210200 20 2003,5,7,11,13,17000000 10000000

972383 = 17 x 47 x 1217 x 1

oooo
2P +1 = 17(60060n 4+ 57199)

o00o0ooO0oobo1vooob00o0ob0O0o0obOOoOoo0bO0oo0DbOO0o0obO0oOobUobDoOooDbOoboDbOoon
good

Q=4861930000
P = 510510n + 486193

2P + 1 =2(510510n + 486193) + 1 = 10210201 + 972386 + 1 = 1021020n + 972387

0000010210200 20 2003,5,7,11,13,17000000 10000000

972387 =3 x 3 x 13 x 8311 x 1

oooo
2P + 1 = 39(26180n + 24933)

goodoOooOo3ooooooob0obobooUoooooDoOobDOoobDOobDOobooboooo
good

Q=4861970000
P = 510510n + 486197

2P + 1 = 2(510510n + 486197) + 1 = 10210201 + 972394 + 1 = 10210201 + 972395
0000010210200 20 2003,5,7,11,13,17000000 10000000

972395 =5 x 194479 x 1

oooo
2P + 1 = 5(204204n + 194479)

g0oboboOoos0b0b0obO0ob0U0o0b0bOobOUoO0bO0OobOobOOobDOobO0oobUobDOobDOoo
goo

Q =4862030000
P = 5105100 + 486203

212



2P + 1 =2(510510n + 486203) + 1 = 1021020n + 972406 + 1 = 1021020n + 972407

0000010210200 20 2003,5,7,11,13,17000000 1000000

972407 = 972407 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 461897

gboboobogobogoboboobboobooobooooboon

Q =48620900 00
P = 5105100 + 486209

2P + 1 = 2(510510n + 486209) 4 1 = 10210201 4+ 972418 + 1 = 10210201 + 972419
0000010210200 20 2003,5,7,11,13,17000000 10000000

972419 =7 x 138917 x 1

oooo
2P + 1 = 7(145860n + 138917)

gooooooboovyoooooooooboooooOoboOobDoobDOoobbOODbDoOOobboUODboO
goo

Q=486221 0000
P = 510510n + 486221

2P + 1 = 2(510510n + 486221) 4+ 1 = 10210201 + 972442 + 1 = 10210201 + 972443
0000010210200 20 2003,5,7,11,13,17000000 1000000
972443 = 972443 x 1
0000 10210200000000000000
2P + 1 = 510510m + 461933

gbooboobooobooboboobboobboooboooboon

Q=4862230000
P = 5105100 + 486223

2P + 1 =2(510510n + 486223) + 1 = 10210201 + 972446 + 1 = 1021020n + 972447

0000010210200 20 2003,5,7,11,13,17000000 10000000

972447 = 3 x 7 x 46307 x 1

213



oooo
2P + 1 = 21(48620n + 46307)

0000000021 0000000000000000D000DO0O0DOODOO0OODODOODODOD
good

Q=14862290000
P = 510510n + 486229

2P + 1 = 2(510510n + 486229) + 1 = 10210200 + 972458 + 1 = 10210200 + 972459
0000010210200 20 2003,5,7,11,13,17000000 10000000

972459 =3 x 3 x 3 x 36017 x 1

oooo
2P + 1 = 3(340340n + 324153)

o00obOobooo30b0obooooooboobooOoOobOobobDobDOobooobOobOobDOoo
goo

Q=4862470000
P = 5105100 + 486247

2P + 1 = 2(510510n + 486247) + 1 = 10210201 + 972494 + 1 = 10210201 + 972495
0000010210200 20 2003,5,7,11,13,17000000 10000000

972495 =3 x 3 x5 x 21611 x 1

oooo
2P + 1 = 15(68068n + 64833)

ooooooooiboooobooooobobooobooboOobooboboooobOoobOoo
good

Q=4862530000
P = 510510n + 486253

2P 4+ 1 =2(510510n + 486253) + 1 = 10210201 + 972506 + 1 = 10210201 + 972507

oo000010210200 20 2003,5,7,11,13,17000000 10000000

972507 =3 x 179 x 1811 x 1

oooOo
2P + 1 = 3(340340n + 324169)

gooooooOo3sooboooooooboU0OoOoU0bOoUDbDOoUobOoUobDbOUDbDOoOobDOoUODoOO
oono

214



Q=486257 0000
P = 510510n + 486257

2P + 1 = 2(510510n + 486257) 4+ 1 = 10210201 4+ 972514 + 1 = 10210201 + 972515
0000010210200 20 2003,5,7,11,13,17000000 10000000

972515 =5 x 19 x 29 x 353 x 1

oooo
2P + 1 = 5(204204n + 194503)

gboobobooosOobobUoboobobooboboboobobOobObDobDOobobOOobOobDOobDOoo
goo

Q=4862590000
P = 510510n + 486259

2P + 1 = 2(510510n + 486259) + 1 = 10210201 + 972518 + 1 = 10210201 + 972519
0000010210200 20 2003,5,7,11,13,17000000 10000000

972519 = 3 x 17 x 19069 x 1

oooo
2P + 1 = 51(20020n 4 19069)

o0b0o0obO0oOooslbOoob0boob0oobOboobobooo0bo0oboobobDooDbOoboDbOoo
good

Q=4862630000
P = 510510n + 486263

2P + 1 = 2(510510n + 486263) 4+ 1 = 10210201 4 972526 + 1 = 10210201 + 972527
0000010210200 20 2003,5,7,11,13,17000000 1000000
972527 = 193 x 5039 x 1
0000 10210200000000000000
2P + 1 = 510510m + 462017

gbobooboooboobboobboobobooobuoonoboon

Q=4862710000
P = 510510n + 486271

2P 4+ 1 =2(510510n + 486271) + 1 = 1021020n + 972542 + 1 = 1021020n + 972543

215



0000010210200 20 2003,5,7,11,13,17000000 10000000

972543 =3 x 11 x 13 x 2267 x 1

oooo
2P + 1 = 429(2380n + 2267)

000000004290 00000000000000000000O0O000O00DOO00DOOOd
good

Q=486281 0000
P = 510510n + 486281

2P + 1 = 2(510510n + 486281) 4 1 = 10210201 + 972562 + 1 = 10210201 + 972563
0000010210200 20 2003,5,7,11,13,17000000 1000000

972563 = 31 x 137 x 229 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 462053

gboboobogobooboboobboobbooobuoonooboon

Q=4862870000
P = 5105100 + 486287

2P + 1 = 2(510510n + 486287) + 1 = 10210201 4+ 972574 + 1 = 10210200 + 972575
0000010210200 20 2003,5,7,11,13,17000000 10000000

972575 =5 x 5 x 38903 x 1

oooo
2P + 1 = 5(204204n + 194515)

ooooooboOs0OO0bOOO0bOOO0bOO0DOOO0DbDOO0ODOODOODOODOODbOODOO
goo

Q=486289 0000
P = 510510n + 486289

2P + 1 =2(510510n + 486289) + 1 = 1021020n + 972578 + 1 = 10210201 + 972579

0000010210200 20 2003,5,7,11,13,17000000 10000000

972579 =3 x 73 x 4441 x 1

oooo
2P + 1 = 3(340340n + 324193)

216



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4862930000
P = 510510n + 486293

2P + 1 =2(510510n + 486293) + 1 = 10210201 + 972586 + 1 = 10210201 + 972587

0000010210200 20 2003,5,7,11,13,17000000 10000000

972587 =7 x 11 x 17 x 743 x 1

oooo
2P + 1 = 1309(780n + 743)

o00o0ob0o0oDb13090000b0o0ooobooobooo0bobobOobOUooDbOoobOooDbOoo
googno

Q=1486301 0000
P = 510510n + 486301

2P + 1 =2(510510n + 486301) + 1 = 10210201 + 972602 + 1 = 10210201 + 972603

0000010210200 20 2003,5,7,11,13,17000000 10000000

972603 = 3 x 3 x 53 x 2039 x 1

oooo
2P + 1 = 3(340340n + 324201)

gooooooOo3oUobooooooobo0oOoU0bOoUbDOoUobOoUobbOUbDOoUobDboUDboO
goo

Q=4863070000
P = 510510n + 486307

2P + 1 = 2(510510n + 486307) + 1 = 10210201 + 972614 + 1 = 10210201 + 972615
0000010210200 20 2003,5,7,11,13,17000000 10000000

972615 =3 x5 X 7Tx 959 x 157 x 1

oooo
2P 4+ 1 =105(9724n + 9263)

gboobobOobolesobooooooobooboboboooobooobobUobobDooDOobooo
googd

Q=4863130000
P = 510510n + 486313

217



2P + 1 =2(510510n + 486313) + 1 = 1021020n + 972626 + 1 = 10210201 + 972627

0000010210200 20 2003,5,7,11,13,17000000 10000000

972627 = 3 x 324209 x 1

oooo
2P + 1 = 3(340340n + 324209)

gooooooOo300boo0ooU0ooU0ooU0bOoUDOOoUoDOoUbObOUDOoObDbOUDoOO
goo

Q=4863230000
P = 510510n + 486323

2P + 1 = 2(510510n + 486323) + 1 = 10210201 + 972646 + 1 = 10210201 + 972647
0000010210200 20 2003,5,7,11,13,17000000 10000000

972647 = 13 x 23 x 3253 x 1

oooOo
2P + 1 = 13(78540n + 74819)

o00o0obO0o0ob013oooboooooooOoooobooobOOo0obooboboDoooDbOooDbOoo
good

Q=4863290000
P = 510510n + 486329

2P + 1 = 2(510510n + 486329) + 1 = 10210201 4+ 972658 + 1 = 10210201 4+ 972659
0000010210200 20 2003,5,7,11,13,17000000 1000000
972659 = 587 x 1657 x 1
0000 10210200000000000000
2P + 1 = 510510m + 462149

gbobogobooobooboboobboobbooobuooooboon

Q=4863310000
P = 510510n + 486331

2P 4+ 1 =2(510510n + 486331) + 1 = 10210201 + 972662 + 1 = 10210201 + 972663

0000010210200 20 2003,5,7,11,13,17000000 10000000

972663 = 3 x 349 x 929 x 1

218



oooo
2P + 1 = 3(340340n + 324221)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=4863370000
P = 510510n + 486337

2P 4+ 1 = 2(510510n + 486337) + 1 = 10210200 + 972674 + 1 = 10210201 + 972675
0000010210200 20 2003,5,7,11,13,17000000 10000000

972675 =3 x3x3xHxHx1l x131 x1

ooono
2P + 1 = 165(6188n + 5895)

oooooooolesoooooooooobooooooooobooboooooooooOoobobbOooo
oooo

Q=4863410000
P = 510510n + 486341

2P + 1 = 2(510510n + 486341) 4+ 1 = 10210201 + 972682 + 1 = 10210201 + 972633
0000010210200 20 2003,5,7,11,13,17000000 1000000
972683 = 972683 x 1
0000 10210200000000000000
2P + 1 = 510510m + 462173

gboboobogobogbooboobboobbooobuoooboon

Q=4863470000
P = 5105100 + 486347

2P + 1 =2(510510n 4 486347) + 1 = 1021020n + 972694 + 1 = 1021020n + 972695

0000010210200 20 2003,5,7,11,13,17000000 10000000

972695 =5 x 227 x 857 x 1

oooo
2P + 1 = 5(204204n + 194539)

gooooooUds0OUObO0oO0bOOObOOUObOO0ODbDOU0ODOODOODOODOODOUODOO
goo

219



Q=486349 0000
P = 510510n + 486349

2P + 1 =2(510510n + 486349) + 1 = 1021020n + 972698 + 1 = 1021020n + 972699

0000010210200 20 2003,5,7,11,13,17000000 10000000

972699 =3 x 7T x 7T x 13 x 509 x 1

oooo
2P + 1 = 273(3740n + 3563)

OOo0oOo0oOooo2r3000000o0o00oo0o0obooooodoo0boO0o0ooouooDoUoDooO
goog

Q=4863590000
P = 5105100 + 486359

2P 4+ 1 =2(510510n + 486359) + 1 = 1021020n + 972718 + 1 = 1021020n + 972719

0000010210200 20 2003,5,7,11,13,17000000 10000000

972719 =11 x 11 x 8039 x 1

oooo
2P + 1 = 11(92820n + 88429)

gboobOoobOlnoooboboooO0oobOboOooObooo0bOo0oboobUobDUoOooDbOobobOoo
good

Q=486361 0000
P = 510510n + 486361

2P 4+ 1 =2(510510n + 486361) + 1 = 1021020n + 972722 + 1 = 1021020n + 972723

0000010210200 20 2003,5,7,11,13,17000000 10000000

972723 =3 x 17 x 19073 x 1

oooo
2P + 1 = 51(20020n + 19073)

gboooooooslbobooobooooobobooobooboobooboboooobOoobOoon
gogo

Q=4863710000
P = 510510n + 486371

2P + 1 =2(510510n + 486371) + 1 = 1021020n + 972742 + 1 = 1021020n + 972743

220



0000010210200 20 2003,5,7,11,13,17000000 1000000

972743 =19 x 51197 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 462233

goboobooobooboboobboobbooboooboon

Q=4863730000
P = 510510n + 486373

2P + 1 = 2(510510n + 486373) 4+ 1 = 10210201 4 972746 + 1 = 10210200 + 972747
0000010210200 20 2003,5,7,11,13,17000000 10000000

972747 =3 x 3 x 29 x 3727 x 1

oooOo
2P + 1 = 3(340340n + 324249)

obooboooo3oboboboooooboboooOoboboboobDobooobOobOoooo
goo

Q=1486377 0000
P = 5105100 + 486377

2P + 1 = 2(510510n + 486377) + 1 = 10210201 4+ 972754 + 1 = 10210200 + 972755
0000010210200 20 2003,5,7,11,13,17000000 10000000

972755 =5 x 7T x 27793 x 1

oooo
2P + 1 = 35(29172n + 27793)

oooOooOoboOo3ooboboooobobooooobooooDooboobDOobDoboooboooo
good

Q=4863790000
P = 510510n + 486379

2P + 1 =2(510510n + 486379) + 1 = 1021020n + 972758 + 1 = 10210201 + 972759

0000010210200 20 2003,5,7,11,13,17000000 10000000

972759 = 3 x 47 x 6899 x 1

oooo
2P + 1 = 3(340340n + 324253)

221



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=486383 0000
P = 510510n + 486383

2P + 1 =2(510510n + 486383) + 1 = 1021020n + 972766 + 1 = 1021020n + 972767
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

972767 = 37 x 61 x 431 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 462257

oooboobooobooboboobboobboobooobooo

Q=486339 0000
P = 510510n + 486389

2P + 1 = 2(510510n + 486389) + 1 = 10210201 + 972778 + 1 = 10210201 + 972779
0000010210200 20 2003,5,7,11,13,17000000 1000000

972779 =173 x 5623 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 462269

goboobooobooboboobboobbooboooboon

Q=4863910000
P = 510510n + 486391

2P 4+ 1 =2(510510n + 486391) + 1 = 10210201 + 972782 + 1 = 1021020n + 972783

0000010210200 20 2003,5,7,11,13,17000000 10000000

972783 =3 x 3 x 3 x 7T x Hl47 x 1

oooo
2P + 1 = 21(48620n + 46323)

obooboooobo2100gobo0oooobobooobo0oo0b0oobooboboooobOoobOoo
good

Q=4863970000
P = 510510n + 486397

2P 4+ 1 =2(510510n + 486397) + 1 = 1021020n + 972794 + 1 = 1021020n + 972795

222



0000010210200 20 2003,5,7,11,13,17000000 10000000

972795 =3 x 5 x 64853 x 1

oooo
2P + 1 = 15(68068n + 64853)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=486401 0000
P = 510510n + 486401

2P + 1 = 2(510510n + 486401) 4 1 = 10210201 + 972802 + 1 = 10210201 + 972803
0000010210200 20 2003,5,7,11,13,17000000 10000000

972803 = 13 x 74831 x 1

oooo
2P + 1 = 13(78540n + 74831)

gooooOobo0oyooooOooobOobooooooooooDOobDOoOoDOobDOoboboboOooo
good

Q =4864030000
P = 510510n + 486403

2P 4+ 1 =2(510510n + 486403) + 1 = 10210201 + 972806 + 1 = 1021020n + 972807
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

972807 =3 x 11 x41 x 719 x 1

oooo
2P + 1 = 33(30940n + 29479)

obooboooo3dboooooooooboboooboobDooboobobooooboOoobOoo
goog

Q=4864070000
P = 5105100 -+ 486407

2P 4+ 1 =2(510510n + 486407) + 1 = 1021020n + 972814 + 1 = 1021020n + 972815

0000010210200 20 2003,5,7,11,13,17000000 10000000

972815 =5 x 53 x 3671 x 1

oooo
2P + 1 = 5(204204n + 194563)

223



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=4864130000
P = 510510n + 486413

2P + 1 = 2(510510n + 486413) + 1 = 10210201 4 972826 + 1 = 10210200 + 972827
0000010210200 20 2003,5,7,11,13,17000000 1000000

972827 = 972827 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 462317

gbooboobooobooboboobboobboooboooboon

Q=4864190000
P = 5105100 + 486419

2P 4+ 1 =2(510510n + 486419) + 1 = 1021020n + 972838 + 1 = 1021020n + 972839

0000010210200 20 2003,5,7,11,13,17000000 10000000

972839 =7 x 138977 x 1

oooo
2P + 1 = 7(145860n + 138977)

goooooogvyoUooo0oooUobOoUoOOoU0bOU0UDODOoUDbOoUbObOUODbDOOoDbDbOUODbDOO
goo

Q=486427 0000
P = 5105100 + 486427

2P 4+ 1 =2(510510n + 486427) + 1 = 1021020n + 972854 + 1 = 10210201 + 972855

0000010210200 20 2003,5,7,11,13,17000000 10000000

972855 =3 x 3 x 5 x 13 x 1663 x 1

0ooo
2P + 1 = 195(5236n + 4989)

o00obOO0obOo0D19% 000000000000 boo0oo0oo00oobO0obOobOoDOooDOooboOon
good

Q=486433 0000
P = 510510n + 486433

2P 4+ 1 =2(510510n + 486433) + 1 = 10210201 + 972866 + 1 = 10210201 + 972867

224



0000010210200 20 2003,5,7,11,13,17000000 10000000

972867 = 3 x 7 x 46327 x 1

oooo
2P + 1 = 21(48620n + 46327)

oooooooo210000000000000DODOO00DODDOOODODOOOODOOOODDOOO
oooo

Q=4864390000
P = 510510n + 486439

2P 4+ 1 = 2(510510n + 486439) 4+ 1 = 10210201 4 972878 + 1 = 1021020n + 972879
0000010210200 20 2003,5,7,11,13,17000000 10000000

972879 = 3 x 324293 x 1

oooo
2P + 1 = 3(340340n + 324293)

goobOobooo3oboboboooooboboooOobobUobDobDobooobobobDoo
goo

Q=14864430000
P = 510510 + 486443

2P + 1 = 2(510510n + 486443) + 1 = 10210201 4 972886 + 1 = 10210201 + 972887
0000010210200 20 2003,5,7,11,13,17000000 1000000
972887 = 972887 x 1
0000 10210200000000000000
2P + 1 = 510510m + 462377

gbooboobooobooboboobboobbooboooboon

Q=4864490000
P = 510510n + 486449

2P 4+ 1 = 2(510510n + 486449) + 1 = 1021020n + 972898 + 1 = 1021020n + 972899

0000010210200 20 2003,5,7,11,13,17000000 1000000

972899 = 972899 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 462389

225



gboboobogobogoboboobboobooobooooboon

Q=4864570000
P = 5105100 + 486457

2P 4+ 1 =2(510510n + 486457) + 1 = 1021020n + 972914 + 1 = 1021020n + 972915

0000010210200 20 2003,5,7,11,13,17000000 10000000

972915 =3 x5 x 37 x 1753 x 1

oooO
2P + 1 = 15(68068n + 64861)

gooooobooboobooooobobooooobooooDoobDOooDOobDOoboboboOooboo
good

Q=4864610000
P = 510510n + 486461

2P 4+ 1 =2(510510n + 486461) + 1 = 10210201 + 972922 + 1 = 10210201 + 972923

0000010210200 20 2003,5,7,11,13,17000000 10000000

972923 =7 x 23 x 6043 x 1

oooo
2P + 1 = 7(145860n + 138989)

gOooooooOovyoUooOOoO0OOoO0OOoO0OO0DOO0DODO0OO0DDOOO0DDOOUODOODOOUODOOO
goo

Q=4864630000
P = 510510n + 486463

2P 4+ 1 =2(510510n + 486463) + 1 = 10210201 + 972926 + 1 = 1021020n + 972927

0000010210200 20 2003,5,7,11,13,17000000 10000000

972927 =3 x 3 x 17 x 6359 x 1

oooo
2P + 1 = 51(20020n + 19077)

oooooooosloooooooooobooooboooooboooooboboooooboOoooDobOn
oooo

Q=486467 0000
P = 5105100 + 486467

2P 4+ 1 =2(510510n + 486467) + 1 = 1021020n + 972934 + 1 = 10210201 + 972935

226



0000010210200 20 2003,5,7,11,13,17000000 10000000

972935 =5 x 31 x 6277 x 1

oooo
2P + 1 = 5(204204n + 194587)

oboobOoooosOb0obOobOUobObo0obO0obOobOUobObOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=486469 0000
P = 510510n + 486469

2P + 1 = 2(510510n + 486469) + 1 = 10210201 + 972938 + 1 = 10210201 + 972939
0000010210200 20 2003,5,7,11,13,17000000 10000000

972939 = 3 x 11 x 29483 x 1

oooo
2P + 1 = 33(30940n + 29483)

goooooboOo33boobooooobobooooooooooDobDOooDOobDOoboooboooo
good

Q=486481 0000
P = 510510n + 486481

2P + 1 =2(510510n + 486481) + 1 = 10210201 + 972962 + 1 = 10210201 + 972963
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

972963 = 3 x 3 x 108107 x 1

oooo
2P + 1 = 3(340340n + 324321)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=4864870000
P = 5105100 + 486487

2P 4+ 1 =2(510510n + 486487) + 1 = 1021020n + 972974 + 1 = 1021020n + 972975

0000010210200 20 2003,5,7,11,13,17000000 10000000

972975 =3 x H x5 x 12973 x 1

oooo
2P + 1 = 15(68068n + 64865)

227



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=4864910000
P = 510510n + 486491

2P + 1 = 2(510510n + 486491) 4+ 1 = 10210201 4 972982 + 1 = 10210201 + 972983
0000010210200 20 2003,5,7,11,13,17000000 10000000

972983 = 11 x 197 x 449 x 1

oooo
2P + 1 = 11(92820n + 88453)

gobo0obO0oobOlnoooo0oobO0oobOo0ooObO0ooODOO0o0obO0o0obUobDoOooDbOobODbOoo
good

Q=4865030000
P = 510510n + 486503

2P 4+ 1 = 2(510510n + 486503) + 1 = 10210201 + 973006 + 1 = 1021020n + 973007
0000010210200 20 2003,5,7,11,13,17000000 10000000

973007 =7 x 97 x 1433 x 1

oooo
2P + 1 = 7(145860n + 139001)

gooooOooOovyoUooOOoO0OOoO0OOoU0OO0DOOU0DODO0O0ODOOU0ODOOUODOODOOUODOO
goo

Q=4865090000
P = 510510n + 486509

2P + 1 = 2(510510n + 486509) 4 1 = 10210201 + 973018 + 1 = 10210201 + 973019
0000010210200 20 2003,5,7,11,13,17000000 1000000
973019 = 601 x 1619 x 1
0000 10210200000000000000
2P + 1 = 510510m + 462509

gbooboobooobooboboobboobboooboooboon

Q=4865110000
P = 510510n + 486511

2P 4+ 1 =2(510510n + 486511) + 1 = 1021020n + 973022 + 1 = 10210201 + 973023

228



0000010210200 20 2003,5,7,11,13,17000000 10000000

973023 = 3 x 324341 x 1

oooo
2P + 1 = 3(340340n + 324341)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q=4865170000
P = 510510n + 486517

2P + 1 = 2(510510n + 486517) + 1 = 10210201 4+ 973034 + 1 = 10210201 + 973035
0000010210200 20 2003,5,7,11,13,17000000 10000000

973035 =3 x 3 x5 x7x308) x1

oooo
2P + 1 = 105(9724n + 9267)

gooooooOoles0oboOoOoO0O0oOO0O0oDOoO0oDOOUDObOObDO0O0OO0OODOUODOO
good

Q=4865270000
P = 5105100 + 486527

2P 4+ 1 =2(510510n + 486527) + 1 = 1021020n + 973054 + 1 = 10210201 + 973055
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

973055 =5 x 71 x 2741 x 1

oooo
2P + 1 = 5(204204n + 194611)

ooobobooos0b0b0ObOOoO0b0o0Ob0ObDOobOUOObO0ObUObDOobDOobObOObOobDOobDOC
goo

Q=48652900000
P = 5105100 + 486529

2P 4+ 1 =2(510510n + 486529) + 1 = 10210201 + 973058 + 1 = 10210201 + 973059

0000010210200 20 2003,5,7,11,13,17000000 10000000

973059 = 3 x 31 x 10463 x 1

oooo
2P + 1 = 3(340340n + 324353)

229



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4865330000
P = 510510n + 486533

2P + 1 =2(510510n + 486533) + 1 = 10210201 + 973066 + 1 = 10210201 + 973067
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

973067 = 973067 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 462557

oooboobooobooboboobboobboobooobooo

Q=4865390000
P = 510510n + 486539

2P + 1 = 2(510510n + 486539) 4+ 1 = 10210201 + 973078 + 1 = 10210201 + 973079
0000010210200 20 2003,5,7,11,13,17000000 1000000

973079 = 557 x 1747 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 462569

goboobooobooboboobboobbooboooboon

Q=4865470000
P = 510510n -+ 486547

2P 4+ 1 =2(510510n + 486547) + 1 = 1021020n + 973094 + 1 = 10210201 + 973095

0000010210200 20 2003,5,7,11,13,17000000 10000000

973095 =3 x 5 x 29 x 2237 x 1

oooo
2P + 1 = 15(68068n + 64873)

ooooooooliboooobooooobobooobooboobooboboooobOoobOoo
good

Q=486553 0000
P = 510510n + 486553

2P 4+ 1 =2(510510n + 486553) + 1 = 10210201 + 973106 + 1 = 10210201 + 973107

230



0000010210200 20 2003,5,7,11,13,17000000 10000000

973107 =3 x 3 x 3 x 23 x 1567 x 1

good
2P + 1 = 3(340340n + 324369)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=486559 0000
P = 510510n + 486559

2P + 1 = 2(510510n + 486559) 4+ 1 = 10210201 + 973118 4+ 1 = 10210201 + 973119
0000010210200 20 2003,5,7,11,13,17000000 10000000

973119 =3 x 7x 149 x 311 x 1

oooo
2P + 1 = 21(48620n + 46339)

go0odoOoboOo210000000ob0bO0oboo0ooO0oOo0oDOobDOo0oDLDOobDOoboOoboOoooO
googo

Q=486569 0000
P = 510510n + 486569

2P + 1 = 2(510510n + 486569) + 1 = 10210201 + 973138 + 1 = 10210201 + 973139
0000010210200 20 2003,5,7,11,13,17000000 1000000

973139 = 139 x 7001 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 462629

goboobooobooboboobboobboobooobooo

Q=4865710000
P = 510510n + 486571

2P 4+ 1 =2(510510n + 486571) + 1 = 10210201 + 973142 + 1 = 10210201 + 973143

0000010210200 20 2003,5,7,11,13,17000000 10000000

973143 = 3 x 3 x 108127 x 1

oooo
2P + 1 = 3(340340n + 324381)

231



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=486581 0000
P = 510510n + 486581

2P + 1 = 2(510510n + 486581) 4 1 = 10210201 4+ 973162 + 1 = 10210201 + 973163
0000010210200 20 2003,5,7,11,13,17000000 1000000

973163 = 73 x 13331 x 1

o000 102102000000000000000

2P +1 = 510510m + 462653

gbooboobooobooboboobboobboooboooboon

Q=486583 0000
P = 510510n + 486583

2P 4+ 1 =2(510510n + 486583) + 1 = 10210201 + 973166 + 1 = 1021020n + 973167

0000010210200 20 2003,5,7,11,13,17000000 10000000

973167 = 3 x 13 x 24953 x 1

good
2P + 1 = 39(26180n + 24953)

gooooooboOo3oooooooboboooUooUoooDOobDUooDUobDobobooOooog
goog

Q=486587 0000
P = 510510n + 486587

2P 4+ 1 =2(510510n + 486587) + 1 = 1021020n + 973174 + 1 = 1021020n + 973175

0000010210200 20 2003,5,7,11,13,17000000 10000000

973175 =5 x5 X Tx 67 x83 x1

oooo
2P + 1 = 35(29172n + 27805)

000000003 0000000000000 o0DOo0obD0o0obobDoOooDbOooODbOon
good

Q=486580 000 O
P = 510510n + 486589

2P 4+ 1 =2(510510n + 486589) + 1 = 1021020n + 973178 + 1 = 1021020n + 973179

232



0000010210200 20 2003,5,7,11,13,17000000 10000000

973179 = 3 x 3 x 108131 x 1

good
2P + 1 = 3(340340n + 324393)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=4865930000
P = 510510n + 486593

2P + 1 = 2(510510n + 486593) 4+ 1 = 10210201 4 973186 + 1 = 10210201 + 973187
0000010210200 20 2003,5,7,11,13,17000000 1000000

973187 = 973187 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 462677

gboboobogobooboboobboobbooobuoonooboon

Q=486599 0000
P = 5105100 + 486599

2P + 1 = 2(510510n + 486599) 4+ 1 = 10210201 4+ 973198 + 1 = 10210201 4+ 973199
0000010210200 20 2003,5,7,11,13,17000000 10000000

973199 =17 x 19 x 23 x 131 x 1

oooo
2P + 1 = 17(60060n + 57247)

ooooooboOowwooooOooobOoboooooooooDoOobDOooDOobDOobooboOooo
good

Q=4866010000
P = 510510n + 486601

2P + 1 =2(510510n + 486601) + 1 = 10210201 + 973202 + 1 = 10210201 + 973203

0000010210200 20 2003,5,7,11,13,17000000 10000000

973203 =3 x 7Tx 11 x11 x 383 x 1

0ooo
2P + 1 = 231(4420n + 4213)

233



OO000o0o0ooOo23l1000o000o0o00oo00obooooogoo0bo0o0oooooDoUoDoO
goog

Q=4866110000
P = 510510n + 486611

2P + 1 = 2(510510n + 486611) 4 1 = 10210201 + 973222 + 1 = 10210201 + 973223
0000010210200 20 2003,5,7,11,13,17000000 1000000

973223 =179 x 5437 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 462713

gbooboobooobooboboobboobboooboooboon

Q=4866130000
P = 510510n + 486613

2P + 1 =2(510510n + 486613) + 1 = 10210201 + 973226 + 1 = 1021020n + 973227

0000010210200 20 2003,5,7,11,13,17000000 10000000

973227 = 3 x 401 x 809 x 1

good
2P + 1 = 3(340340n + 324409)

gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=4866170000
P = 5105100 + 486617

2P 4+ 1 =2(510510n + 486617) + 1 = 1021020n + 973234 + 1 = 1021020n + 973235

0000010210200 20 2003,5,7,11,13,17000000 10000000

973235 =5 x 194647 x 1

oooo
2P + 1 = 5(204204n + 194647)

O00b0o0O00sS000000000000DO0ODOO0ODODOODODOODODODOOODODODOD
goo

Q=486623 0000
P = 510510n + 486623

2P 4+ 1 =2(510510n + 486623) + 1 = 10210201 + 973246 + 1 = 1021020n + 973247

234



0000010210200 20 2003,5,7,11,13,17000000 10000000

973247 =11 x 103 x 859 x 1

oooo
2P + 1 =11(92820n + 88477)

oboobooobolnooooboooooboboooboobOo0obooboboooobOoobOoo
goog

Q=4866310000
P = 510510n + 486631

2P + 1 = 2(510510n + 486631) 4+ 1 = 10210201 4+ 973262 + 1 = 10210201 + 973263
0000010210200 20 2003,5,7,11,13,17000000 10000000

973263 = 3 x 439 x 739 x 1

ooono
2P + 1 = 3(340340n + 324421)

000000003 000000000000DO00DO000O0DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=4866370000
P = 5105100 + 486637

2P + 1 = 2(510510n + 486637) + 1 = 1021020n + 973274 + 1 = 1021020n + 973275
0000010210200 20 2003,5,7,11,13,17000000 10000000

973275 =3 xH x5 x 19 x 683 x 1

oooo
2P + 1 = 15(68068n + 64885)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=4866410000
P = 510510n + 486641

2P 4+ 1 =2(510510n + 486641) + 1 = 1021020n + 973282 + 1 = 1021020n + 973283

0000010210200 20 2003,5,7,11,13,17000000 1000000

973283 = 973283 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 462773

235



gboboobogobogoboboobboobooobooooboon

Q=4866430000
P = 5105100 + 486643

2P + 1 = 2(510510n + 486643) 4+ 1 = 10210201 4 973286 + 1 = 10210201 + 973287
0000010210200 20 2003,5,7,11,13,17000000 10000000

973287 =3 x 3 X 7T x7x2207 x 1

oooo
2P + 1 = 21(48620n + 46347)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=486649 0000
P = 510510n + 486649

2P + 1 = 2(510510n + 486649) 4 1 = 10210201 + 973298 + 1 = 10210201 + 973299
0000010210200 20 2003,5,7,11,13,17000000 10000000

973299 =3 x 41 x41 x 193 x 1

oooo
2P + 1 = 3(340340n + 324433)

oboobobooo3oboboboooooboboooobobUoboDoboDoboboobOobDoooo
goo

Q =486653 0000
P = 510510n + 486653

2P 4+ 1 = 2(510510n + 486653) + 1 = 10210201 + 973306 + 1 = 1021020n + 973307
0000010210200 20 2003,5,7,11,13,17000000 1000000
973307 = 31 x 31397 x 1
0000 10210200000000000000
2P + 1 = 510510m + 462797

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=4866670000
P = 510510n + 486667

2P + 1 =2(510510n + 486667) + 1 = 10210201 + 973334 + 1 = 1021020n + 973335

236



0000010210200 20 2003,5,7,11,13,17000000 10000000

973335 =3 x5 x 11 x 17 x 347 x 1

oooo
2P + 1 = 2805(364n + 347)

obo0obOoob20 0000000000 bO0OO0bO0OObOoObUOobOUODbDUOODbOoODbDOO
googo

Q=1486671 0000
P = 510510n + 486671

2P + 1 = 2(510510n + 486671) 4+ 1 = 10210201 + 973342 + 1 = 10210201 + 973343
0000010210200 20 2003,5,7,11,13,17000000 10000000

973343 =7 x 211 x 659 x 1

oooo
2P + 1 = 7(145860n + 139049)

goooooobogvyooooOoooOoobooOoOOoO0bOo0obDOoOoDOoOobDOUDOOobDbOUODboOO
goo

Q=4866770000
P = 5105100 + 486677

2P 4+ 1 =2(510510n + 486677) + 1 = 1021020n + 973354 + 1 = 10210201 + 973355
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

973355 =5 x 194671 x 1

oooo
2P + 1 = 5(204204n + 194671)

ooobobooos0b0b0ObOOoO0b0o0Ob0ObDOobOUOObO0ObUObDOobDOobObOObOobDOobDOC
goo

Q=486679 0000
P = 5105100 + 486679

2P 4+ 1 =2(510510n + 486679) + 1 = 10210201 + 973358 + 1 = 10210201 + 973359

0000010210200 20 2003,5,7,11,13,17000000 10000000

973359 =3 x3x37Tx37Tx79x1

oooo
2P + 1 = 3(340340n + 324453)

237



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=486683 0000
P = 510510n + 486683

2P + 1 = 2(510510n + 486683) + 1 = 10210201 4 973366 + 1 = 10210201 + 973367
0000010210200 20 2003,5,7,11,13,17000000 1000000

973367 = 973367 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 462857

gbooboobooobooboboobboobboooboooboon

Q=486691 0000
P = 510510n + 486691

2P 4+ 1 =2(510510n + 486691) + 1 = 1021020n + 973382 + 1 = 1021020n + 973383

0000010210200 20 2003,5,7,11,13,17000000 10000000

973383 = 3 x 23 x 14107 x 1

ogooo
2P + 1 = 3(340340n + 324461)

gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=486697 0000
P = 5105101 + 486697

2P 4+ 1 =2(510510n + 486697) + 1 = 1021020n + 973394 + 1 = 10210201 + 973395

0000010210200 20 2003,5,7,11,13,17000000 10000000

973395 =3 x I x Hx 97T x 223 x 1

oooo
2P + 1 = 15(68068n + 64893)

O0000O0o0oo1booobooobO0oooOoooOoOo0oo0obO0o0obOO0o0obOobDoOooDbOOooODbOoo
good

Q=486701 0000
P = 510510n + 486701

2P 4+ 1 =2(510510n + 486701) + 1 = 1021020n + 973402 + 1 = 10210201 + 973403

238



0000010210200 20 2003,5,7,11,13,17000000 10000000

973403 = 17 x 57259 x 1

oooo
2P + 1 = 17(60060n + 57259)

oobooboooboivyooobobooOooobobooobOoobOo0oboobUoboooobOoobOoo
goog

Q=486709 0000
P = 5105100 + 486709

2P + 1 = 2(510510n + 486709) 4+ 1 = 10210201 + 973418 + 1 = 10210201 + 973419
0000010210200 20 2003,5,7,11,13,17000000 10000000

973419 = 3 x 324473 x 1

oooo
2P + 1 = 3(340340n + 324473)

000000003 000000000000DO00DO000O0DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=4867130000
P =510510n + 486713

2P + 1 = 2(510510n + 486713) + 1 = 1021020n + 973426 + 1 = 1021020n + 973427
0000010210200 20 2003,5,7,11,13,17000000 10000000

973427 =7 x 13 x 19 x 563 x 1

oooo
2P + 1 =91(11220n + 10697)

gooooooOo9lboobooO0oOoU0obO0bOOobOoU0obOUO0oDObDUo0oDUObDOobOoObOboOobO
goodg

Q=4867190000
P = 510510n + 486719

2P 4+ 1 =2(510510n + 486719) + 1 = 1021020n + 973438 + 1 = 1021020n + 973439

0000010210200 20 2003,5,7,11,13,17000000 1000000

973439 = 973439 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 462929

239



gboboobogobogoboboobboobooobooooboon

Q=1486721 0000
P = 510510n + 486721

2P + 1 = 2(510510n + 486721) 4+ 1 = 10210201 + 973442 + 1 = 10210201 + 973443
0000010210200 20 2003,5,7,11,13,17000000 10000000

973443 =3 x 29 X 67 x 167 x 1

oooo
2P + 1 = 3(340340n + 324481)

gooooooo3soooooooooboooooboobooDboobbOUDoOobboUOoDboO
goo

Q=4867370000
P = 5105100 + 486737

2P + 1 = 2(510510n + 486737) + 1 = 10210201 4 973474 + 1 = 10210200 + 973475
0000010210200 20 2003,5,7,11,13,17000000 10000000

973475 =5 x 5 x 23 x 1693 x 1

oooo
2P + 1 = 5(204204n + 194695)

oboobobooosUOb0obUobOOobobo0obU0bDOobOUobObUObUObDOobDOobObOobOobDOoboOoo
goo

Q=4867430000
P = 5105100 + 486743

2P 41 = 2(510510n + 486743) + 1 = 10210200 + 973486 + 1 = 10210200 + 973487
0000010210200 20 2003,5,7,11,13,17000000 1000000
973487 = 973487 x 1
0000 10210200000000000000
2P + 1 = 510510m + 462977

goooooboobooboooobooobooobobOoobboOoOoobooooDn

Q=4867490000
P = 510510n + 486749

2P 4+ 1 =2(510510n + 486749) + 1 = 1021020n + 973498 + 1 = 1021020n + 973499

240



0000010210200 20 2003,5,7,11,13,17000000 1000000

973499 = 61 x 15959 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 462989

goboobooobooboboobboobbooboooboon

Q=4867510000
P = 510510n + 486751

2P + 1 = 2(510510n + 486751) 4+ 1 = 10210201 + 973502 + 1 = 10210201 + 973503
0000010210200 20 2003,5,7,11,13,17000000 10000000

973503 = 3 x 3 x 19 x 5693 x 1

oooo
2P + 1 = 3(340340n + 324501)

obooboooo3oboboboooooboboooOoboboboobDobooobOobOoooo
goo

Q=486757 0000
P = 5105100 + 486757

2P + 1 = 2(510510n + 486757) + 1 = 10210201 4+ 973514 + 1 = 10210200 + 973515
0000010210200 20 2003,5,7,11,13,17000000 10000000

973515 = 3 x 5 x 64901 x 1

0ooo
2P + 1 = 15(68068n + 64901)

ooooooboOobooboooooboboooooooooDoobDOooDOobDOobooboOooo
good

Q=4867630000
P = 510510n + 486763

2P + 1 =2(510510n + 486763) + 1 = 10210201 + 973526 + 1 = 1021020n + 973527

0000010210200 20 2003,5,7,11,13,17000000 10000000

973527 =3 x 191 x 1699 x 1

oooo
2P + 1 = 3(340340n + 324509)

241



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4867670000
P = 510510n + 486767

2P + 1 = 2(510510n + 486767) 4+ 1 = 10210201 4 973534 + 1 = 10210201 + 973535
0000010210200 20 2003,5,7,11,13,17000000 10000000

973535 =5 x 194707 x 1

oooo
2P + 1 = 5(204204n + 194707)

g00ob0obO0o0Os000D000000000DODOO0ODODOODODODOOOODODODOD
goo

Q=486769 0000
P = 510510n + 486769

2P 4+ 1 = 2(510510n + 486769) + 1 = 10210201 4 973538 + 1 = 1021020n + 973539
0000010210200 20 2003,5,7,11,13,17000000 10000000

973539 =3 x3x3x3xT7x17x101 x1

good
2P + 1 = 357(2860n + 2727)

OO000O00ooOo3ro0dood0oodoo0ooooooogoooboo0oooooooooDooag
good

Q=4867790000
P = 5105100 + 486779

2P + 1 = 2(510510n + 486779) 4+ 1 = 10210201 + 973558 + 1 = 10210201 + 973559
0000010210200 20 2003,5,7,11,13,17000000 1000000
973559 = 29 x 59 x 569 x 1
0000 10210200000000000000
2P + 1 = 510510m + 463049

gbooboobooobooboboobboobboooboooboon

Q=486781 0000
P = 510510n + 486781

2P 4+ 1 =2(510510n + 486781) + 1 = 10210201 + 973562 + 1 = 10210201 + 973563

242



0000010210200 20 2003,5,7,11,13,17000000 10000000

973563 = 3 x 43 x 7547 x 1

oooo
2P + 1 = 3(340340n + 324521)

obooboooo3oboboboooooboboooOoboboboobDobooobOobDOobooo
goo

Q=4867910000
P = 510510n + 486791

2P + 1 = 2(510510n + 486791) 4+ 1 = 10210201 + 973582 + 1 = 10210201 + 973583
0000010210200 20 2003,5,7,11,13,17000000 10000000

973583 = 13 x 74891 x 1

oooo
2P + 1 = 13(78540n + 74891)

gooooOobo0oyooooOooobOobooooooooooDOobDOoOoDOobDOoboboboOooo
good

Q=4867930000
P = 510510n + 486793

2P + 1 =2(510510n + 486793) + 1 = 10210201 + 973586 + 1 = 1021020n + 973587
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

973587 = 3 x 324529 x 1

oooo
2P + 1 = 3(340340n + 324529)

oobobooo3oboboboooooboboooOobOobobDobDoboooboboobDoo
goo

Q=486797 0000
P = 5105100 -+ 486797

2P 4+ 1 =2(510510n + 486797) + 1 = 10210201 + 973594 + 1 = 1021020n + 973595

0000010210200 20 2003,5,7,11,13,17000000 10000000

973595 =5 x 7 x 27817 x 1

oooo
2P + 1 =35(29172n + 27817)

243



Oo0oOdoOooOOo3o00b0b00ooob0dbooboo0oooo0oDoobDUooDOobDoboooooog
goog

Q=486799 0000
P = 510510n + 486799

2P + 1 = 2(510510n + 486799) 4+ 1 = 10210201 4 973598 + 1 = 10210201 + 973599
0000010210200 20 2003,5,7,11,13,17000000 10000000

973599 =3 x 11 x 163 x 181 x 1

oooo
2P + 1 = 33(30940n + 29503)

0000bO0o0oo33b0ooooobooobooooboooDbDOo0ob0o0obUoDoOooDbOooODbOoo
good

Q=4868030000
P = 510510n + 486803

2P 4+ 1 = 2(510510n + 486803) + 1 = 10210201 + 973606 + 1 = 10210200 + 973607
0000010210200 20 2003,5,7,11,13,17000000 10000000

973607 = 17 x 57271 x 1

oooo
2P + 1 = 17(60060n + 57271)

go0oOdoOooOOolTooooO0oOoO0obOO0bOOo0OoOU0OOU0oOO0oDODODO0oDOobDOobOoOooOooOg
good

Q=4863090000
P = 510510n + 486809

2P + 1 = 2(510510n + 486809) 4 1 = 10210201 + 973618 + 1 = 10210201 + 973619
0000010210200 20 2003,5,7,11,13,17000000 1000000
973619 = 691 x 1409 x 1
0000 10210200000000000000
2P + 1 = 510510m + 463109

gbooboobooobooboboobboobboooboooboon

Q=4868170000
P = 510510n + 486817

2P 4+ 1 =2(510510n + 486817) + 1 = 1021020n + 973634 + 1 = 10210201 + 973635

244



0000010210200 20 2003,5,7,11,13,17000000 10000000

973635 =3 x 5 x 13 x 4993 x 1

oooo
2P + 1 = 195(5236n + 4993)

oboobobgoolysoooooooobooboboooooooobobobobooooooo
goog

Q=486821 0000
P = 510510n + 486821

2P + 1 = 2(510510n + 486821) 4+ 1 = 10210201 + 973642 + 1 = 10210201 + 973643
0000010210200 20 2003,5,7,11,13,17000000 10000000

973643 =11 x 88513 x 1

oooo
2P + 1 = 11(92820n + 88513)

00000000 NnNooo0o0o0o0O00ooO0o0o0OO0o0ODO0o0DO0o0bOoDoOoDObOOoDODbDOD
good

Q=4868230000
P = 510510n + 486823

2P + 1 = 2(510510n + 486823) + 1 = 1021020n + 973646 + 1 = 1021020n + 973647
0000010210200 20 2003,5,7,11,13,17000000 10000000

973647 = 3 x 3 x 3 x 36061 x 1

oooo
2P + 1 = 3(340340n + 324549)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=4868330000
P = 510510n + 486833

2P 4+ 1 =2(510510n + 486833) + 1 = 10210201 + 973666 + 1 = 1021020n 4 973667

0000010210200 20 2003,5,7,11,13,17000000 1000000

973667 = 389 x 2503 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 463157

245



gboboobogobogoboboobboobooobooooboon

Q=486839 0000
P = 5105100 + 486839

2P + 1 =2(510510n + 486839) + 1 = 1021020n + 973678 + 1 = 1021020n + 973679

0000010210200 20 2003,5,7,11,13,17000000 10000000

973679 =7 x 7 x 31 x 641 x 1

oooo
2P + 1 = 7(145860n + 139097)

goooooogovyoooooooooooooOoboobDoobDOoobbOODbDoOOobboUOoDboO
goo

Q=4863410000
P = 510510n + 486841

2P + 1 =2(510510n + 486841) + 1 = 10210201 + 973682 + 1 = 10210201 + 973683

0000010210200 20 2003,5,7,11,13,17000000 10000000

973683 = 3 x 3 x 108187 x 1

oooo
2P + 1 = 3(340340n + 324561)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=4868470000
P = 510510n + 486847

2P + 1 =2(510510n + 486847) + 1 = 1021020n + 973694 + 1 = 10210201 + 973695

0000010210200 20 2003,5,7,11,13,17000000 10000000

973695 = 3 x 5 x 139 x 467 x 1

oooo
2P + 1 = 15(68068n + 64913)

oooooooolkooooooooooooooobooooboooooboboooooboOoooDoobOn
oooo

Q=4863510000
P = 510510n + 486851

2P 4+ 1 =2(510510n + 486851) + 1 = 10210201 + 973702 + 1 = 1021020n + 973703

246



0000010210200 20 2003,5,7,11,13,17000000 1000000

973703 = 271 x 3593 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 463193

goboobooobooboboobboobbooboooboon

Q=486853 0000
P = 510510n + 486853

2P + 1 = 2(510510n + 486853) + 1 = 10210201 4 973706 + 1 = 10210201 + 973707
0000010210200 20 2003,5,7,11,13,17000000 10000000

973707 =3 x 7 x 199 x 233 x 1

oooOo
2P + 1 = 21(48620n + 46367)

oboobooobo21000oo0bo0ob00ooboboooboo0bo0obooboboooobOoobOoo
good

Q=486859 0000
P = 5105100 + 486859

2P + 1 = 2(510510n + 486859) 4+ 1 = 10210201 4+ 973718 + 1 = 10210201 + 973719
0000010210200 20 2003,5,7,11,13,17000000 10000000

973719 = 3 x 3 x 108191 x 1

oooo
2P + 1 = 3(340340n + 324573)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=486869 0000
P = 510510n + 486869

2P 4+ 1 =2(510510n + 486869) + 1 = 1021020n + 973738 + 1 = 10210201 + 973739

0000010210200 20 2003,5,7,11,13,17000000 10000000

973739 = 13 x 74903 x 1

oooo
2P + 1 = 13(78540n + 74903)

247



go0oOdo0obO0o3oooo0ooobo0obooOooU0ooUooooOOobDOoUoDOobDOoboooooog
goog

Q=486877 0000
P = 5105100 + 486877

2P 4+ 1 =2(510510n + 486877) + 1 = 1021020n + 973754 + 1 = 1021020n + 973755

0000010210200 20 2003,5,7,11,13,17000000 10000000

973755 =3 X I X I xdHx 7213 x 1

oooo
2P + 1 = 15(68068n + 64917)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=486881 0000
P = 510510n + 486881

2P + 1 =2(510510n + 486881) + 1 = 1021020n + 973762 + 1 = 10210201 + 973763

0000010210200 20 2003,5,7,11,13,17000000 10000000

973763 = 7 x 139109 x 1

oooo
2P + 1 = 7(145860n + 139109)

gooooooovyoUooo0oooOooOOoU0OOoU0obDOU0UDbDOoUbDOoUbDOUDbDOObDOUODOO
ooo

Q=486883 0000
P = 510510n + 486883

2P + 1 = 2(510510n + 486883) + 1 = 10210201 + 973766 + 1 = 10210201 + 973767
0000010210200 20 2003,5,7,11,13,17000000 10000000

973767 = 3 x 324589 x 1

good
2P + 1 = 3(340340n + 324589)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=486887 0000
P = 5105100 + 486887

248



2P + 1 =2(510510n + 486887) + 1 = 1021020n + 973774 + 1 = 1021020n + 973775

0000010210200 20 2003,5,7,11,13,17000000 10000000

973775 =5 x5 x 11 x 3541 x 1

oooo
2P + 1 = 55(18564n + 17705)

obogooooosobooobooooobobooobooboobooboboooobOoobOoon
goog

Q=4869010000
P = 510510n + 486901

2P + 1 = 2(510510n + 486901) 4+ 1 = 10210201 + 973802 + 1 = 10210201 + 973803
0000010210200 20 2003,5,7,11,13,17000000 10000000

973803 =3 x 31 x 37 x 283 x 1

oooo
2P + 1 = 3(340340n + 324601)

o00ob0ooO0o0o30b00b0oooooobooboooobob0obODobDobOoobOoDbDOoDOon
goo

Q =4869070000
P = 510510n + 486907

2P + 1 = 2(510510n + 486907) + 1 = 10210201 4 973814 + 1 = 10210201 + 973815
0000010210200 20 2003,5,7,11,13,17000000 10000000

973815 =3 x 5 x 64921 x 1

oooo
2P + 1 = 15(68068n + 64921)

gooooOooOolboobooOooobOoboobooOooOUooobDOobDOoOoDOobDOoboooboOooog
good

Q=4869110000
P = 510510n + 486911

2P + 1 =2(510510n + 486911) + 1 = 1021020n + 973822 + 1 = 1021020n + 973823

0000010210200 20 2003,5,7,11,13,17000000 1000000

973823 = 973823 x 1

249



0000 102102000000000000000

2P 4+ 1 =510510m + 463313

gbobooobogobooboboobboobboooboooboon

Q=4869170000
P = 510510n + 486917

2P + 1 = 2(510510n + 486917) + 1 = 10210201 4+ 973834 + 1 = 10210201 + 973835
0000010210200 20 2003,5,7,11,13,17000000 10000000

973835 =5 x 194767 x 1

oooo
2P + 1 = 5(204204n + 194767)

gboobobooosbobobobooob0oboboboobobOobobDobDOobobOOobOobOobooo
oono

Q=4869190000
P = 510510n + 486919

2P + 1 = 2(510510n + 486919) 4 1 = 10210201 + 973838 + 1 = 10210201 + 973839
0000010210200 20 2003,5,7,11,13,17000000 10000000

973839 =3 x 83 x 3911 x 1

oooo
2P + 1 = 3(340340n + 324613)

g0obOobooo30boboooooobobooDooboobooDoboDobooobOobOoobDOoo
goo

Q=4869230000
P = 510510n + 486923

2P 4+ 1 =2(510510n + 486923) + 1 = 10210201 + 973846 + 1 = 1021020n + 973847

0000010210200 20 2003,5,7,11,13,17000000 10000000

973847 =7 x 139121 x 1

oooo
2P + 1 = 7(145860n + 139121)

goooooogvyooooOoooOoobooOooOoOobOoU0obDOoOoDbOoOobbOODOoOobDboUODoOoO
goo

250



Q=486929 0000
P = 510510n + 486929

2P + 1 = 2(510510n + 486929) + 1 = 10210201 + 973858 + 1 = 10210201 + 973859
0000010210200 20 2003,5,7,11,13,17000000 1000000

973859 = 911 x 1069 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 463349

gbobooobogobooboboobboobooobuoooboon

Q=4869430000
P = 5105100 + 486943

2P + 1 =2(510510n + 486943) + 1 = 1021020n + 973886 + 1 = 1021020n + 973887

0000010210200 20 2003,5,7,11,13,17000000 10000000

973887 = 3 x 47 x 6907 x 1

oooo
2P + 1 = 3(340340n + 324629)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=4869470000
P = 5105100 + 486947

2P + 1 =2(510510n + 486947) + 1 = 1021020n + 973894 + 1 = 10210201 + 973895

0000010210200 20 2003,5,7,11,13,17000000 10000000

973895 =5 x 13 x 14983 x 1

oooOo
2P + 1 = 65(15708n + 14983)

obooboooboesbb0obobO0o0OUboOobObOOoC0bO0oO0bO0ObUO0ObUObDUOODbDOODbDOC
good

Q=486949 0000
P = 510510n + 486949

2P 4+ 1 =2(510510n + 486949) + 1 = 1021020n + 973898 + 1 = 10210201 + 973899

251



0000010210200 20 2003,5,7,11,13,17000000 10000000

973899 = 3 x 3 x 108211 x 1

oooo
2P + 1 = 3(340340n + 324633)

oboobobooo3oboboboooooboboooOobOobUoboobDoooobOobDoobooo
goo

Q=486953 0000
P = 5105100 + 486953

2P + 1 = 2(510510n + 486953) 4+ 1 = 10210201 4+ 973906 + 1 = 10210201 + 973907
0000010210200 20 2003,5,7,11,13,17000000 10000000

973907 =11 x 29 x 43 x 71 x 1

oooo
2P + 1 = 11(92820n + 88537)

00000000 NnNooo0o0o0O00ooO0o0o0OO00oo0DO0o0DO0o0bOoDoOoDObOOoDODbOD
good

Q=486961 0000
P = 510510n + 486961

2P + 1 = 2(510510n + 486961) + 1 = 1021020n + 973922 + 1 = 1021020n + 973923
0000010210200 20 2003,5,7,11,13,17000000 10000000

973923 = 3 x 324641 x 1

oooo
2P + 1 = 3(340340n + 324641)

gooooooOo3oooooooUobooUoOoU0bOoUbDOoUbOoUbObOUDbDOoUobDbOUDbOoO
goo

Q=4869710000
P = 510510n + 486971

2P 4+ 1 =2(510510n + 486971) + 1 = 10210201 + 973942 + 1 = 1021020n + 973943

0000010210200 20 2003,5,7,11,13,17000000 1000000

973943 = 101 x 9643 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 463433

252



gboboobogobogoboboobboobooobooooboon

Q=14869730000
P = 5105100 + 486973

2P + 1 =2(510510n + 486973) + 1 = 1021020n + 973946 + 1 = 1021020n + 973947

0000010210200 20 2003,5,7,11,13,17000000 10000000

973947 =3 x 13 x 13 x 17 x 113 x 1

oooo
2P +1 = 663(1540n + 1469)

gooooobooes3s0dOobOOb0O0OO0ODOOODOODOODDODODOOOOOODOODOO
good

Q=4869770000
P = 5105100 + 486977

2P 4+ 1 =2(510510n + 486977) + 1 = 10210201 + 973954 + 1 = 10210201 + 973955

0000010210200 20 2003,5,7,11,13,17000000 10000000

973955 =5 x 41 x 4751 x 1

oooo
2P + 1 = 5(204204n + 194791)

oboobobooosUObUobUobOOoOobo0obU0bDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=4869790000
P = 5105100 + 486979

2P 4+ 1 =2(510510n + 486979) + 1 = 10210201 + 973958 + 1 = 10210201 + 973959

0000010210200 20 2003,5,7,11,13,17000000 10000000

973959 =3 x 7 x 19 x 2441 x 1

oooo
2P + 1 = 21(48620n + 46379)

oooooooo210000000000000DODO00DODDODOODODOOOODOOOODDOOO
oooo

Q=486939 0000
P = 5105100 + 486989

2P 4+ 1 =2(510510n + 486989) + 1 = 10210201 + 973978 + 1 = 10210201 + 973979

253



0000010210200 20 2003,5,7,11,13,17000000 1000000

973979 = 67 x 14537 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 463469

goboobooobooboboobboobbooboooboon

Q=4869910000
P = 510510n + 486991

2P + 1 = 2(510510n + 486991) + 1 = 10210201 + 973982 + 1 = 10210201 + 973983
0000010210200 20 2003,5,7,11,13,17000000 10000000

973983 = 3 x 324661 x 1

oooo
2P + 1 = 3(340340n + 324661)

gbooboooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=4870010000
P = 510510n + 487001

2P 4+ 1 =2(510510n + 487001) + 1 = 10210201 + 974002 + 1 = 1021020n + 974003
oo000gl10210200 20 2003,5,7,11,13,170 00000 1000000
974003 = 974003 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 463493

oooboobooobooboboobboobboobooobooo

Q=4870070000
P = 5105100 + 487007

2P + 1 =2(510510n + 487007) + 1 = 1021020n + 974014 + 1 = 1021020n + 974015

0000010210200 20 2003,5,7,11,13,17000000 10000000

974015 =5 x 7 x 17 x 1637 x 1

oooo
2P + 1 =595(1716n + 1637)

254



OO00Oo0oOooOosY 0000 fd0oo0oo0obooooo0obo0obbo0oooooDoUoDoO
goog

Q=487009 0000
P = 510510n + 487009

2P + 1 = 2(510510n + 487009) 4 1 = 10210201 4 974018 + 1 = 10210201 + 974019
0000010210200 20 2003,5,7,11,13,17000000 10000000

974019 = 3 x 324673 x 1

oooo
2P + 1 = 3(340340n + 324673)

g00ob0obO0oo03000b0b00oo0ooboobDooDobObO0obOoDOOobDOobO0oobOobDOoDOn
goo

Q=4870130000
P = 510510n + 487013

2P 4+ 1 = 2(510510n + 487013) + 1 = 10210200 + 974026 + 1 = 10210200 + 974027
0000010210200 20 2003,5,7,11,13,17000000 1000000

974027 = 23 x 42349 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 463517

gbbogbogobogbbgobbooboooobuoonobagn

Q=4870210000
P = 510510n + 487021

2P 4+ 1 =2(510510n + 487021) + 1 = 10210201 + 974042 + 1 = 10210201 + 974043

0000010210200 20 2003,5,7,11,13,17000000 10000000

974043 =3 x 3 x 7 x 15461 x 1

oooo
2P + 1 = 21(48620n + 46383)

0000000021 0000000000000O000DLOO00D0o0ObOObDOoODObOObODbDOn
good

Q=487027 0000
P = 510510n + 487027

2P 4+ 1 =2(510510n + 487027) 4+ 1 = 1021020n + 974054 + 1 = 1021020n + 974055

255



0000010210200 20 2003,5,7,11,13,17000000 10000000

974055 = 3 x 5 x 64937 x 1

oooo
2P + 1 = 15(68068n + 64937)

oooooooolooooooooooooooobooooboooooboboooobooboOoooDbOn
oooo

Q=4870310000
P = 510510n + 487031

2P 4+ 1 = 2(510510n + 487031) 4+ 1 = 10210201 4 974062 + 1 = 1021020n + 974063
0000010210200 20 2003,5,7,11,13,17000000 1000000

974063 = 974063 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 463553

gbbogobogoboobboobboobboobuoonboob

Q=4870370000
P = 510510n + 487037

2P + 1 = 2(510510n + 487037) 4+ 1 = 10210201 4+ 974074 + 1 = 10210201 + 974075
0000010210200 20 2003,5,7,11,13,17000000 10000000

974075 =5 x 5 x 47 x 829 x 1

oooo
2P + 1 = 5(204204n + 194815)

oooooooobso0oooooboboooooooboboboooooobooOobobooooobobOBbOoOn
ooo

Q=4870430000
P = 510510n + 487043

2P 4+ 1 =2(510510n + 487043) + 1 = 10210201 + 974086 + 1 = 1021020n + 974087

0000010210200 20 2003,5,7,11,13,17000000 1000000

974087 = 53 x 18379 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 463577

256



gboboobogobogoboboobboobooobooooboon

Q=487049000 0
P = 5105100 + 487049

2P + 1 =2(510510n + 487049) + 1 = 1021020n + 974098 + 1 = 1021020n + 974099

0000010210200 20 2003,5,7,11,13,17000000 10000000

974099 = 7 x 37 x 3761 x 1

oooo
2P + 1 = 7(145860n + 139157)

goooooogovyoooooooooooooOoboobDoobDOoobbOODbDoOOobboUOoDboO
goo

Q=4870510000
P = 510510n + 487051

2P + 1 =2(510510n + 487051) + 1 = 10210201 + 974102 + 1 = 10210201 + 974103

0000010210200 20 2003,5,7,11,13,17000000 10000000

974103 = 3 x 13 x 24977 x 1

oooo
2P + 1 = 39(26180n + 24977)

obooboooo3oooobooooobobooobooboobooboboooobOoobOoo
good

Q=4870570000
P = 510510n + 487057

2P 4+ 1 =2(510510n + 487057) + 1 = 1021020n + 974114 + 1 = 1021020n + 974115

0000010210200 20 2003,5,7,11,13,17000000 10000000

974115 =3 x 3 x 5 x 21647 x 1

oooo
2P + 1 = 15(68068n + 64941)

oooooooolkooooooooooooooobooooboooooboboooooboOoooDoobOn
oooo

Q=4870610000
P = 510510n + 487061

2P 4+ 1 =2(510510n + 487061) + 1 = 1021020n + 974122 + 1 = 1021020n + 974123

257



0000010210200 20 2003,5,7,11,13,17000000 1000000

974123 = 974123 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 463613

goboobooobooboboobboobbooboooboon

Q=4870630000
P = 510510n + 487063

2P + 1 = 2(510510n + 487063) 4+ 1 = 10210201 4+ 974126 + 1 = 10210200 + 974127
0000010210200 20 2003,5,7,11,13,17000000 10000000

974127 =3 x 7Tx 11 x 4217 x 1

oooo
2P + 1 = 231(4420n + 4217)

gooooOoboo23i0goofooo0oo0ooboooogooobo0ooo0oobDoUDoo
good

Q=4870730000
P = 510510n + 487073

2P + 1 = 2(510510n + 487073) 4+ 1 = 10210201 4 974146 + 1 = 10210200 + 974147
0000010210200 20 2003,5,7,11,13,17000000 1000000
974147 = 974147 x 1
0000 10210200000000000000

2P 4+ 1 = 510510m + 463637

gboboobogobooboboobboobbooobuoonobaon

Q=487079 0000
P = 510510n + 487079

2P + 1 =2(510510n + 487079) + 1 = 10210201 + 974158 + 1 = 10210201 + 974159

0000010210200 20 2003,5,7,11,13,17000000 1000000

974159 = 974159 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 463649

258



gboboobogobogoboboobboobooobooooboon

Q=487087 0000
P = 510510n -+ 487087

2P + 1 =2(510510n 4 487087) + 1 = 1021020n + 974174 + 1 = 1021020n + 974175

0000010210200 20 2003,5,7,11,13,17000000 10000000

974175 =3 x H x5 x 31 x419x 1

oooo
2P + 1 = 15(68068n + 64945)

gooooobooboobooooobobooooobooooDoobDOooDOobDOoboboboOooboo
good

Q=487093 0000
P = 510510n + 487093

2P + 1 =2(510510n + 487093) + 1 = 10210201 + 974186 + 1 = 1021020n + 974187

0000010210200 20 2003,5,7,11,13,17000000 10000000

974187 =3 x 3 x3x3x3x19x211 x1

oooo
2P + 1 = 3(340340n + 324729)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=487099 0000
P = 5105100 + 487099

2P 4+ 1 =2(510510n + 487099) + 1 = 1021020n + 974198 + 1 = 10210201 + 974199

0000010210200 20 2003,5,7,11,13,17000000 10000000

974199 = 3 x 324733 x 1

oooo
2P + 1 = 3(340340n + 324733)

oooooooob3sooooooboobooooooobooooooobooOobOobDooooobbBbOoOn
ooo

Q=4871030000
P = 510510n + 487103

2P + 1 =2(510510n + 487103) + 1 = 1021020n + 974206 + 1 = 1021020n + 974207

259



0000010210200 20 2003,5,7,11,13,17000000 10000000

974207 = 13 x 137 x 547 x 1

oooo
2P + 1 = 13(78540n + 74939)

oboobooboooooobooooobobooobooboobooboboooobOoobOoo
goog

Q=4871110000
P = 510510n + 487111

2P + 1 = 2(510510n + 487111) 4 1 = 10210201 4 974222 + 1 = 10210201 + 974223
0000010210200 20 2003,5,7,11,13,17000000 10000000

974223 = 3 x 3 x 108247 x 1

ooono
2P + 1 = 3(340340n + 324741)

000000003 000000000000DO00DO000O0DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=4871170000
P = 510510n + 487117

2P +1 = 2(510510n + 487117) + 1 = 1021020n + 974234 + 1 = 1021020n + 974235
0000010210200 20 2003,5,7,11,13,17000000 10000000

974235 =3 x 5 x 107 x 607 x 1

oooo
2P + 1 = 15(68068n + 64949)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=4871210000
P =510510n + 487121

2P + 1 =2(510510n + 487121) + 1 = 1021020n + 974242 + 1 = 1021020n + 974243

0000010210200 20 2003,5,7,11,13,17000000 1000000

974243 = 617 x 1579 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 463733

260



gboboobogobogoboboobboobooobooooboon

Q=4871270000
P = 510510n + 487127

2P 4+ 1 =2(510510n + 487127) + 1 = 1021020n + 974254 + 1 = 1021020n + 974255

0000010210200 20 2003,5,7,11,13,17000000 10000000

974255 =5 x 29 x 6719 x 1

oooo
2P + 1 = 5(204204n + 194851)

gooooooboOosOoUOoboOoOoboOoOobOOo0bObOO0bO0oDbDOoOoDOOobDbOODOOoDbDbOUODOO
goo

Q=4871290000
P = 510510n + 487129

2P 4+ 1 =2(510510n + 487129) + 1 = 10210201 + 974258 + 1 = 10210201 + 974259

0000010210200 20 2003,5,7,11,13,17000000 10000000

974259 =3 x 3 x 11 x 13 x 757 x 1

0ooo
2P + 1 = 429(2380n + 2271)

0000000042900 0000000000DO00DOO0OOO0bOO00OO00oDOOoODoOOd
good

Q=4871330000
P = 510510n + 487133

2P + 1 =2(510510n + 487133) + 1 = 10210201 + 974266 + 1 = 1021020n + 974267

0000010210200 20 2003,5,7,11,13,17000000 10000000

974267 =7 x 7T x 59 x 337 x 1

oooo
2P + 1 = 7(145860n + 139181)

oooooooovooooooboobooooooobooooooobooOobObDooooobObOBbOoOn
ooo

Q=4871390000
P = 510510n + 487139

2P 4+ 1 =2(510510n + 487139) + 1 = 1021020n + 974278 + 1 = 1021020n + 974279

261



0000010210200 20 2003,5,7,11,13,17000000 1000000

974279 = 974279 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 463769

goboobooobooboboobboobbooboooboon

Q=4871410000
P = 510510n + 487141

2P + 1 = 2(510510n + 487141) 4+ 1 = 10210201 + 974282 + 1 = 10210201 + 974283
0000010210200 20 2003,5,7,11,13,17000000 10000000

974283 = 3 x 41 x 89 x 89 x 1

oooo
2P + 1 = 3(340340n + 324761)

obooboooo3obobobooooobobooooboboboobDobooobUobDOoooo
goo

Q=4871470000
P = 510510n + 487147

2P + 1 = 2(510510n + 487147) 4+ 1 = 10210201 4 974294 + 1 = 10210200 + 974295
0000010210200 20 2003,5,7,11,13,17000000 10000000

974295 =3 x 3 x3 x5 x7x1031 x 1

oooo
2P 4+ 1 =105(9724n + 9279)

gooooobooles0oboOoOoO0O0oOOoO0oDOoO0oDOOODObOObDOO0OO0OO0OODOODOO
good

Q=4871530000
P = 510510n + 487153

2P + 1 =2(510510n + 487153) + 1 = 10210201 + 974306 + 1 = 1021020n + 974307

0000010210200 20 2003,5,7,11,13,17000000 10000000

974307 =3 x 79 x 4111 x 1

oooo
2P + 1 = 3(340340n + 324769)

262



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4871590000
P = 510510n + 487159

2P + 1 = 2(510510n + 487159) 4 1 = 10210201 + 974318 + 1 = 10210201 + 974319
0000010210200 20 2003,5,7,11,13,17000000 10000000

974319 = 3 x 324773 x 1

oooo
2P + 1 = 3(340340n + 324773)

g00ob0obO0oo03000b0b00oo0ooboobDooDobObO0obOoDOOobDOobO0oobOobDOoDOn
goo

Q=4871630000
P = 510510n + 487163

2P 4+ 1 = 2(510510n + 487163) + 1 = 10210200 + 974326 + 1 = 10210200 + 974327
0000010210200 20 2003,5,7,11,13,17000000 1000000

974327 = 863 x 1129 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 463817

gbbooggbogoboobbugobboobbooobuoonbagn

Q=4871710000
P = 510510n + 487171

2P + 1 =2(510510n + 487171) + 1 = 1021020n + 974342 + 1 = 1021020n + 974343

0000010210200 20 2003,5,7,11,13,17000000 10000000

974343 = 3 x 324781 x 1

oooo
2P + 1 = 3(340340n + 324781)

O00b0o0O0o03000b0000000b00oDbO0ooOoO0bO0obO0oDOOobDOoO0oobOoDbDOoDOn
goo

Q=4871770000O
P = 510510n + 487177

2P 4+ 1 =2(510510n + 487177) + 1 = 1021020n + 974354 + 1 = 1021020n + 974355

263



0000010210200 20 2003,5,7,11,13,17000000 10000000

974355 =3 x 5 x 17 x 3821 x 1

oooo
2P + 1 = 255(4004n + 3821)

obobobOoo2s0bogboooooboobobobooooooobobobooooDoooo
good

Q=487181 0000
P = 510510n + 487181

2P + 1 = 2(510510n + 487181) 4+ 1 = 10210201 + 974362 + 1 = 10210201 + 974363
0000010210200 20 2003,5,7,11,13,17000000 10000000

974363 = 13 x 241 x 311 x 1

oooo
2P + 1 = 13(78540n + 74951)

gooooOobo0oyooooOooobOobooooooooooDOobDOoOoDOobDOoboboboOooo
good

Q=4871830000
P = 510510n + 487183

2P + 1 =2(510510n + 487183) + 1 = 10210201 + 974366 + 1 = 1021020n + 974367
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

974367 = 3 x 3 x 108263 x 1

oooo
2P + 1 = 3(340340n + 324789)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=4871870000
P = 5105100 + 487187

2P 4+ 1 =2(510510n + 487187) + 1 = 1021020n + 974374 + 1 = 1021020n + 974375

0000010210200 20 2003,5,7,11,13,17000000 10000000

974375 =5 xH x5 xHx1559 x 1

oooo
2P + 1 = 5(204204n + 194875)

264



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=487189 0000
P = 510510n + 487189

2P + 1 = 2(510510n + 487189) 4 1 = 10210201 + 974378 + 1 = 10210201 + 974379
0000010210200 20 2003,5,7,11,13,17000000 10000000

974379 = 3 x 7 x 46399 x 1

oooo
2P + 1 = 21(48620n + 46399)

O00o0obO0o0obo21000000000b000o0bO00oO0DO0o0DbO0o0obUobDoOoDbOOobODbOoo
good

Q=4871990000
P = 510510n + 487199

2P 4+ 1 = 2(510510n + 487199) + 1 = 10210201 4 974398 + 1 = 1021020n + 974399
0000010210200 20 2003,5,7,11,13,17000000 1000000

974399 = 113 x 8623 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 463889

gbbooggbogoboobbugobboobbooobuoonbagn

Q=4872110000
P =510510n + 487211

2P + 1 =2(510510n + 487211) + 1 = 1021020n + 974422 + 1 = 1021020n + 974423

0000010210200 20 2003,5,7,11,13,17000000 10000000

974423 = 17 x 31 x 43 x 43 x 1

0ooo
2P + 1 = 17(60060n + 57319)

O000o0O0o0ooO1TooobOO0o0o0O00obOO0oOoO0O0oO0DOO0oO0ObDO0o0obOobDUoOobDbOOobODbOon
good

Q=4872130000
P = 510510n + 487213

2P 4+ 1 =2(510510n + 487213) + 1 = 10210201 + 974426 + 1 = 1021020n + 974427

265



0000010210200 20 2003,5,7,11,13,17000000 10000000

974427 = 3 x 324809 x 1

oooo
2P + 1 = 3(340340n + 324809)

obooboobooo3oboboboooooboboooOobOobUoboDoboDobooobOobDoooo
goo

Q=4872170000
P = 510510n + 487217

2P + 1 = 2(510510n + 487217) 4+ 1 = 10210201 4 974434 + 1 = 10210200 + 974435
0000010210200 20 2003,5,7,11,13,17000000 10000000

974435 =5 x 7 x 11 x 2531 x 1

ooono
2P + 1 = 385(2652n + 2531)

0000000038 000000000000 b0oDO0o0D0o000bO0bO0ODbOODOoDODOoDOn
good

Q=4872190000
P = 510510n + 487219

2P + 1 = 2(510510n + 487219) + 1 = 1021020n + 974438 + 1 = 1021020n + 974439
0000010210200 20 2003,5,7,11,13,17000000 10000000

974439 = 3 x 3 x 108271 x 1

oooo
2P + 1 = 3(340340n + 324813)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=4872290000
P =510510n + 487229

2P 4+ 1 =2(510510n + 487229) + 1 = 1021020n + 974458 + 1 = 1021020n + 974459

0000010210200 20 2003,5,7,11,13,17000000 1000000

974459 = 974459 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 463949

266



gboboobogobogoboboobboobooobooooboon

Q=4872310000
P = 510510n + 487231

2P + 1 = 2(510510n + 487231) 4+ 1 = 10210201 + 974462 + 1 = 10210201 + 974463
0000010210200 20 2003,5,7,11,13,17000000 10000000

974463 =3 X 7T X 7T X 7 x 947 x 1

oooo
2P + 1 = 21(48620n + 46403)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=4872410000
P = 510510n + 487241

2P + 1 = 2(510510n + 487241) 4 1 = 10210200 + 974482 + 1 = 10210201 + 974483
0000010210200 20 2003,5,7,11,13,17000000 1000000

974483 = 103 x 9461 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 463973

gboboobogobooboboobboobboooboooboon

Q=4872430000
P = 5105100 + 487243

2P + 1 =2(510510n + 487243) + 1 = 10210201 + 974486 + 1 = 1021020n + 974487

0000010210200 20 2003,5,7,11,13,17000000 10000000

974487 = 3 x 23 x 29 x 487 x 1

oooo
2P + 1 = 3(340340n + 324829)

gooooooOo3soUoboooboooobooU0oOoUbOoUbDOoUobDOoUobObOUDbDOoUobDboUDoOO
oono

Q=4872470000
P = 510510n + 487247

2P + 1 =2(510510n + 487247) + 1 = 1021020n + 974494 + 1 = 1021020n + 974495

267



0000010210200 20 2003,5,7,11,13,17000000 10000000

974495 =5 x 194899 x 1

oooo
2P + 1 = 5(204204n + 194899)

oboobOoooosOb0obOobOUobObo0obO0obOobOUobObOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=4872590000
P = 5105100 + 487259

2P + 1 = 2(510510n + 487259) 4+ 1 = 10210201 + 974518 + 1 = 10210201 + 974519
0000010210200 20 2003,5,7,11,13,17000000 10000000

974519 =7 x 13 x 10709 x 1

oooo
2P +1=91(11220n + 10709)

goooooboOo9lboobooOooUobOobOobooUOoOoUoOoOoDOobDOoOoDOobDOobobOoboOoboo
good

Q=4872610000
P = 510510n + 487261

2P 4+ 1 =2(510510n + 487261) + 1 = 1021020n + 974522 + 1 = 1021020n + 974523
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

974523 = 3 x 11 x 29531 x 1

0ooo
2P + 1 = 33(30940n + 29531)

obooboooo3dboooobooooobobooobooobDooboobobooooboOoobOoo
googd

Q=4872730000
P = 510510n + 487273

2P 4+ 1 =2(510510n + 487273) + 1 = 1021020n + 974546 + 1 = 1021020n + 974547

0000010210200 20 2003,5,7,11,13,17000000 10000000

974547 =3 x 3 x 7T x 31 x499 x 1

oooo
2P + 1 = 21(48620n + 46407)

268



go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=4872830000
P = 510510n + 487283

2P + 1 =2(510510n + 487283) + 1 = 1021020n + 974566 + 1 = 1021020n + 974567

0000010210200 20 2003,5,7,11,13,17000000 10000000

974567 = 11 x 19 x 4663 x 1

oooo
2P + 1 = 11(92820n + 88597)

o0oobO0oobolnoooooob00oobOoOoo0bO0oo0bOOo0oboOobobDoOooDbOoboDbOon
good

Q=487297 0000
P = 510510n + 487297

2P 4+ 1 =2(510510n + 487297) + 1 = 1021020n + 974594 + 1 = 1021020n + 974595

0000010210200 20 2003,5,7,11,13,17000000 10000000

974595 =3 x 5 x 43 x 1511 x 1

oooo
2P + 1 = 15(68068n + 64973)

goodoOooOoboobooOooobOobooooUooUooOoDOobDOoOoDOobDOoboooboooboo
good

Q=4873010000
P = 510510n + 487301

2P + 1 = 2(510510n + 487301) 4 1 = 10210201 + 974602 + 1 = 10210201 + 974603
0000010210200 20 2003,5,7,11,13,17000000 10000000

974603 = 7 x 29 x 4801 x 1

oooo
2P + 1 = 7(145860n + 139229)

o0o0ooooOovyooooO0oOoO0oOoO0oOoO0DOoO0oOo0oDOOo0oOoOODOoOoDOoOoDOod
goo

Q=4873030000
P = 510510n + 487303

269



2P + 1 =2(510510n + 487303) + 1 = 1021020n + 974606 + 1 = 10210201 + 974607

0000010210200 20 2003,5,7,11,13,17000000 10000000

974607 = 3 x 324869 x 1

oooo
2P + 1 = 3(340340n + 324869)

gooooooOo300boo0ooU0ooU0ooU0bOoUDOOoUoDOoUbObOUDOoObDbOUDoOO
goo

Q=4873070000
P = 510510n + 487307

2P + 1 = 2(510510n + 487307) + 1 = 10210201 + 974614 + 1 = 10210201 + 974615
0000010210200 20 2003,5,7,11,13,17000000 10000000

974615 = 5 x 421 x 463 x 1

oooo
2P + 1 = 5(204204n + 194923)

o00ob0ooO0o0os0b00b0b00000bO0ODOO0DO0ObObO0ObO0ODOO0ObDObO0OODbDODbDODbDOn
goo

Q=4873090000
P = 510510n + 487309

2P + 1 = 2(510510n + 487309) 4 1 = 10210201 + 974618 + 1 = 10210201 + 974619
0000010210200 20 2003,5,7,11,13,17000000 10000000

974619 = 3 x 3 x 3 x 36097 x 1

oooo
2P + 1 = 3(340340n + 324873)

gooooooOo3oUoboooooUooboo0OoOoU0bOoUbDOoUobDOoUbDbOUDbDOoobDbOUODoO
ooo

Q=4873130000
P = 510510n + 487313

2P + 1 =2(510510n + 487313) + 1 = 10210201 + 974626 + 1 = 1021020n + 974627

0000010210200 20 2003,5,7,11,13,17000000 10000000

974627 = 17 x 57331 x 1

270



oooo
2P + 1 = 17(60060n + 57331)

0000000010000 00D000ODO0O0O0OOO0ODODOO0O0DOO0OO0ODbOODODO0OODODOODODOD
good

Q=4873210000
P = 510510n + 487321

2P + 1 = 2(510510n + 487321) + 1 = 10210200 + 974642 + 1 = 1021020n + 974643
0000010210200 20 2003,5,7,11,13,17000000 10000000

974643 = 3 x 19 x 17099 x 1

oooo
2P + 1 = 3(340340n + 324881)

o00obOobooo30b0obooooooboobooOoOobOobobDobDOobooobOobOobDOoo
goo

Q=487327 0000
P = 510510n + 487327

2P + 1 = 2(510510n + 487327) + 1 = 10210201 + 974654 + 1 = 10210201 + 974655
0000010210200 20 2003,5,7,11,13,17000000 10000000

974655 =3 x 3 x5 x 11 x11 x 179 x 1

oooo
2P +1 = 165(6188n + 5907)

oboobobgoolesoboooooooboobobobooooooobobUobobooooooo
good

Q=4873370000
P = 510510n + 487337

2P 4+ 1 =2(510510n + 487337) + 1 = 1021020n + 974674 + 1 = 1021020n + 974675

oo000010210200 20 2003,5,7,11,13,17000000 10000000

974675 =5 x 5 x 13 x 2999 x 1

good
2P +1 = 65(15708n + 14995)

gooOdoOoboOde 000000 0ODODOOOOUOOUOOODODOODODODbDODOOObOO
gogo

271



Q=4873430000
P = 510510n + 487343

2P + 1 =2(510510n + 487343) + 1 = 1021020n + 974686 + 1 = 10210201 + 974687

0000010210200 20 2003,5,7,11,13,17000000 10000000

974687 = 7 x 139241 x 1

oooo
2P + 1 = 7(145860n + 139241)

goooooogvyoUooOOoO0OOoO0OOoU0OOoU0ODOOU0UDOOoODOoOUObOOUODOUODOOUODbDOO
goo

Q=4873490000
P = 510510n + 487349

2P + 1 =2(510510n + 487349) + 1 = 10210201 + 974698 + 1 = 1021020n + 974699

0000010210200 20 2003,5,7,11,13,17000000 10000000

974699 = 11 x 88609 x 1

oooo
2P + 1 = 11(92820n + 88609)

gboobOoobOlnoooboboooO0oobOboOooObooo0bOo0oboobUobDUoOooDbOobobOoo
good

Q=487351 0000
P = 510510n + 487351

2P 4+ 1 =2(510510n + 487351) + 1 = 1021020n + 974702 + 1 = 10210201 + 974703

0000010210200 20 2003,5,7,11,13,17000000 10000000

974703 = 3 x 324901 x 1

oooo
2P + 1 = 3(340340n + 324901)

gooooooOo3o0boooooobooU0OoOoU0bOoUbDOoUobOoUobbOUDbDOoUobDboUODoOoO
oono

Q=4873630000
P = 510510n + 487363

2P + 1 =2(510510n + 487363) + 1 = 10210201 + 974726 + 1 = 1021020n + 974727

272



0000010210200 20 2003,5,7,11,13,17000000 10000000

974727 =3 x 3 x 3 x 13 x 2777 x 1

oooo
2P + 1 = 39(26180n + 24993)

obooboooo3oooooooooboboooboobDoobooboboooobOoobOoo
goog

Q=487367 0000
P = 5105100 + 487367

2P + 1 = 2(510510n + 487367) + 1 = 10210201 4 974734 + 1 = 10210200 + 974735
0000010210200 20 2003,5,7,11,13,17000000 10000000

974735 =5 x 383 x 509 x 1

oooo
2P + 1 = 5(204204n + 194947)

O000OO00O00sS000000000000DO0ODOO0ODODOODOODOODOODOOODODODOD
goo

Q=4873690000
P = 5105100 + 487369

2P + 1 = 2(510510n + 487369) + 1 = 1021020n + 974738 + 1 = 1021020n + 974739
0000010210200 20 2003,5,7,11,13,17000000 10000000

974739 = 3 x 59 x 5507 x 1

oooo
2P + 1 = 3(340340n + 324913)

gooooooOo3soooooooUooboUooU0boOUDbDOoUobOoUbbOUDbDOoUObDboUDboOoO
goo

Q=4873790000
P = 510510n + 487379

2P 4+ 1 =2(510510n + 487379) + 1 = 1021020n + 974758 + 1 = 1021020n + 974759

0000010210200 20 2003,5,7,11,13,17000000 1000000

974759 = 71 x 13729 x 1

oooo 10210200 000000000000

2P 4+ 1 = 510510m + 464249

273



gboboobogobogoboboobboobooobooooboon

Q=4873810000
P = 5105100 + 487381

2P + 1 = 2(510510n + 487381) 4+ 1 = 10210201 + 974762 + 1 = 10210201 + 974763
0000010210200 20 2003,5,7,11,13,17000000 10000000

974763 = 3 x 3 x 17 x 23 x 277 x 1

oooo
2P + 1 =51(20020n + 19113)

gooooooOosilbobobooboob0obobooobooooDobDOooDOobDOoboboboOoboO
good

Q=4873870000O
P = 5105100 + 487387

2P + 1 = 2(510510n + 487387) + 1 = 10210201 + 974774 + 1 = 10210200 + 974775
0000010210200 20 2003,5,7,11,13,17000000 10000000

974775 =3 x5 x b x41 x 317 x 1

oooo
2P + 1 = 15(68068n + 64985)

oooooooolibooooboooooboboooboobooboobooooobOooboo
good

Q=4873910000
P = 510510n + 487391

2P 4+ 1 = 2(510510n + 487391) 4+ 1 = 10210201 4 974782 + 1 = 1021020n + 974783
0000010210200 20 2003,5,7,11,13,17000000 1000000
974783 = 67 x 14549 x 1
0000 10210200000000000000

2P 4+ 1 = 510510m + 464273

goooooboobooboooobooobooobobOoobboOoOoobooooDn

Q=4873930000
P = 510510n + 487393

2P + 1 =2(510510n + 487393) + 1 = 1021020n + 974786 + 1 = 1021020n + 974787

274



0000010210200 20 2003,5,7,11,13,17000000 10000000

974787 =3 x 11 x 109 x 271 x 1

oooo
2P + 1 = 33(30940n + 29539)

obooboooo3dbooooboooooboboooboooboobooboboooobOoobOoo
good

Q=487397 0000
P = 5105100 -+ 487397

2P + 1 = 2(510510n + 487397) + 1 = 10210201 + 974794 + 1 = 10210201 + 974795
0000010210200 20 2003,5,7,11,13,17000000 10000000

974795 =5 x 19 x 31 x 331 x 1

oooo
2P + 1 = 5(204204n + 194959)

gooooooOds0U0bO0oO0bOO0O0bOO0DOO0ODbDO0ODbDOODOODbDOODOODOUODOO
goo

Q=4874110000
P = 510510n + 487411

2P + 1 =2(510510n + 487411) + 1 = 1021020n + 974822 + 1 = 1021020n + 974823
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

974823 = 3 x 324941 x 1

oooo
2P + 1 = 3(340340n + 324941)

ooobOobooo3oboboboooooboboooobobobDobDobooobOobOobDoo
goo

Q=4874230000
P = 510510n + 487423

2P 4+ 1 =2(510510n + 487423) + 1 = 1021020n + 974846 + 1 = 1021020n + 974847

0000010210200 20 2003,5,7,11,13,17000000 10000000

974847 = 3 x 324949 x 1

oooo
2P + 1 = 3(340340n + 324949)

275



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4874270000
P = 5105100 + 487427

2P + 1 = 2(510510n + 487427) 4+ 1 = 10210201 4 974854 + 1 = 10210201 + 974855
0000010210200 20 2003,5,7,11,13,17000000 10000000

974855 =5 X T x T x 23 x 173 x 1

oooo
2P + 1 = 35(29172n + 27853)

000o00O0o0oo3o0o00bboobooboooobooo0bDO0o0ob0o0obUoDoOooDbOooDbOon
good

Q=4874200000
P = 5105100 + 487429

2P 4+ 1 = 2(510510n + 487429) + 1 = 10210201 + 974858 + 1 = 1021020n + 974859
0000010210200 20 2003,5,7,11,13,17000000 10000000

974859 = 3 x 324953 x 1

good
2P + 1 = 3(340340n + 324953)

obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q =4874330000
P = 510510n + 487433

2P + 1 = 2(510510n + 487433) + 1 = 10210201 + 974866 + 1 = 10210201 + 974867
0000010210200 20 2003,5,7,11,13,17000000 1000000
974867 = 974867 x 1
0000 10210200000000000000
2P + 1 = 510510m + 464357

gbooboobooobooboboobboobboooboooboon

Q=487439 0000
P = 510510n + 487439

2P 4+ 1 =2(510510n + 487439) + 1 = 1021020n + 974878 + 1 = 1021020n + 974879

276



0000010210200 20 2003,5,7,11,13,17000000 1000000

974879 = 974879 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 464369

goboobooobooboboobboobbooboooboon

Q=4874470000
P = 510510n + 487447

2P + 1 = 2(510510n + 487447) 4+ 1 = 10210201 4 974894 + 1 = 10210201 + 974895
0000010210200 20 2003,5,7,11,13,17000000 10000000

974895 =3 x 5 x 103 x 631 x 1

oooo
2P 4 1 = 15(68068n + 64993)

oobooooooliboooboboooooboboooboooboobooboboooobobobOoo
good

Q=4874510000
P = 510510n + 487451

2P 4+ 1 =2(510510n + 487451) + 1 = 1021020n + 974902 + 1 = 1021020n + 974903
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
974903 = 163 x 5981 x 1
o000 10210200 000000000000
2P + 1 = 510510m + 464393

ooboobooobooboboobboobboobooobooo

Q=4874530000
P = 510510n + 487453

2P + 1 =2(510510n + 487453) + 1 = 10210201 + 974906 + 1 = 1021020n + 974907

0000010210200 20 2003,5,7,11,13,17000000 10000000

974907 =3 x 3 x 149 x 727 x 1

oooo
2P + 1 = 3(340340n + 324969)

277



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4874570000
P = 5105100 + 487457

2P + 1 = 2(510510n + 487457) 4+ 1 = 10210201 4 974914 + 1 = 10210201 + 974915
0000010210200 20 2003,5,7,11,13,17000000 10000000

974915 =5 x 73 x 2671 x 1

oooo
2P + 1 = 5(204204n + 194983)

g00ob0obO0o0Os000D000000000DODOO0ODODOODODODOOOODODODOD
goo

Q=4874630000
P = 510510n + 487463

2P 4+ 1 = 2(510510n + 487463) + 1 = 10210200 + 974926 + 1 = 10210200 + 974927
0000010210200 20 2003,5,7,11,13,17000000 1000000

974927 = 974927 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 464417

gbbooggbogoboobbugobboobbooobuoonbagn

Q=487469 0000
P = 5105100 + 487469

2P 4+ 1 =2(510510n + 487469) + 1 = 10210201 + 974938 + 1 = 10210201 + 974939

0000010210200 20 2003,5,7,11,13,17000000 10000000

974939 = 7 x 41 x43 x 79 x 1

oooo
2P + 1 = 7(145860n + 139277)

o00b0o0O0o0Ovy0O00bO00O0O0O000O0ODOO0ODOO0OO0OO0ODOODOODOObO0OODODODbDOn
goo

Q=4874710000
P = 510510n + 487471

2P 4+ 1 =2(510510n + 487471) + 1 = 10210201 + 974942 + 1 = 10210201 + 974943

278



0000010210200 20 2003,5,7,11,13,17000000 10000000

974943 = 3 x 3 x 3 x 36109 x 1

oooo
2P + 1 = 3(340340n + 324981)

booboooo3obobobooooobobooooboboboobDobooobUobOobooo
goo

Q=4874770000
P = 510510n + 487477

2P + 1 = 2(510510n + 487477) + 1 = 10210201 + 974954 + 1 = 10210201 + 974955
0000010210200 20 2003,5,7,11,13,17000000 10000000

974955 = 3 x 5 x 64997 x 1

oooo
2P + 1 = 15(68068n + 64997)

goooooboOobhoobooooobOobooooUooooooDOobDOoOoDOobDOoboooboOooo
good

Q=4874810000
P = 510510n + 487481

2P + 1 =2(510510n + 487481) + 1 = 10210201 + 974962 + 1 = 10210201 + 974963
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

974963 = 11 x 61 x 1453 x 1

oooo
2P + 1 = 11(92820n + 88633)

oboobooobolnoooobooOooobOboooboo0bo0obooboboooobOoobOoo
googd

Q=4874830000
P = 5105100 + 487483

2P 4+ 1 =2(510510n + 487483) + 1 = 10210201 + 974966 + 1 = 1021020n + 974967

0000010210200 20 2003,5,7,11,13,17000000 10000000

974967 =3 x 7 x 17 x 2731 x 1

oooo
2P + 1 = 357(2860n + 2731)

279



OO00Oo0oOooOo3rogobodooooooobooooodooobo0ooooooDoooDoog
goog

Q=487489 0000
P = 510510n + 487489

2P + 1 = 2(510510n + 487489) 4 1 = 10210201 4 974978 + 1 = 10210201 + 974979
0000010210200 20 2003,5,7,11,13,17000000 10000000

974979 =3 x 3 x 127 x 853 x 1

oooo
2P + 1 = 3(340340n + 324993)

g00dob0obO0oo03000b0o00oo0ooboobDooDoO0bO0obO0oDOOobDOobO0oOobOoDbDOoDOn
goo

Q=4874930000
P = 510510n + 487493

2P 4+ 1 = 2(510510n + 487493) + 1 = 10210200 + 974986 + 1 = 10210200 + 974987
0000010210200 20 2003,5,7,11,13,17000000 10000000

974987 = 13 x 37 x 2027 x 1

oooOo
2P + 1 = 13(78540n + 74999)

oboobooobo3oooobooooobobooobooboobooboboooobOoobOoo
good

Q=487499 0000
P = 510510n + 487499

2P + 1 = 2(510510n + 487499) + 1 = 10210201 + 974998 + 1 = 10210201 + 974999
0000010210200 20 2003,5,7,11,13,17000000 1000000
974999 = 974999 x 1
0000 10210200000000000000
2P + 1 = 510510m + 464489

gbooboobooobooboboobboobboooboooboon

Q=4875070000
P = 510510n + 487507

2P 4+ 1 =2(510510n + 487507) + 1 = 1021020n + 975014 + 1 = 1021020n + 975015

280



0000010210200 20 2003,5,7,11,13,17000000 10000000

975015 =3 x 3 x5 x47 x461 x 1

oooo
2P + 1 = 15(68068n + 65001)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=4875110000
P = 510510n + 487511

2P + 1 = 2(510510n + 487511) 4+ 1 = 10210201 4 975022 + 1 = 10210201 + 975023
0000010210200 20 2003,5,7,11,13,17000000 10000000

975023 =7 x 19 x 7331 x 1

oooo
2P + 1 = 7(145860n + 139289)

goooooobogvyooooOoooOoobooOoOOoO0bOo0obDOoOoDOoOobDOUDOOobDbOUODboOO
goo

Q=4875170000
P = 510510n + 487517

2P 4+ 1 =2(510510n + 487517) + 1 = 1021020n + 975034 + 1 = 10210201 + 975035
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

975035 =5 x 17 x 11471 x 1

oooo
2P + 1 = 85(12012n + 11471)

obooboooosOooobobooboooboboooboooboobooboboooobOoobOoo
googd

Q=4875190000
P = 5105100 + 487519

2P 4+ 1 =2(510510n + 487519) + 1 = 10210201 + 975038 + 1 = 10210201 + 975039

0000010210200 20 2003,5,7,11,13,17000000 10000000

975039 = 3 x 13 x 23 x 1087 x 1

oooo
2P + 1 = 39(26180n + 25001)

281



oo0oOdoOooOo3ooooooobdboobooU0ooUooooDOobDooDOobDOoboooooog
goog

Q=4875230000
P = 510510n + 487523

2P + 1 =2(510510n + 487523) + 1 = 10210201 + 975046 + 1 = 1021020n + 975047
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

975047 = 181 x 5387 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 464537

oooboobooobooboboobboobboobooobooo

Q=4875370000
P = 510510n + 487537

2P + 1 = 2(510510n + 487537) + 1 = 10210201 + 975074 + 1 = 10210201 + 975075
0000010210200 20 2003,5,7,11,13,17000000 10000000

975075 =3 x 5 x 5 x 13001 x 1

oooo
2P + 1 = 15(68068n + 65005)

obooooooliboooboooooobobooobooobooboobUobooooboOoobOoo
googd

Q=487541 0000
P = 510510n + 487541

2P + 1 = 2(510510n + 487541) 4+ 1 = 10210201 4+ 975082 + 1 = 10210201 4 975083
0000010210200 20 2003,5,7,11,13,17000000 1000000
975083 = 975083 x 1
0000 10210200000000000000
2P + 1 = 510510m + 464573

gbobogobooobooboboobboobbooobuooooboon

Q=4875470000
P = 510510n + 487547

2P 4+ 1 =2(510510n + 487547) + 1 = 1021020n + 975094 + 1 = 10210201 + 975095

282



0000010210200 20 2003,5,7,11,13,17000000 10000000

975095 =5 x 11 x 17729 x 1

oooOo
2P + 1 = 55(18564n + 17729)

O0000O0oOoos OO0 booo0boo0b0o0obooboboooobOoobOoo
good

Q=487549 0000
P = 510510n + 487549

2P + 1 = 2(510510n + 487549) 4+ 1 = 10210201 4+ 975098 + 1 = 10210201 4+ 975099
0000010210200 20 2003,5,7,11,13,17000000 10000000

975099 = 3 x 19 x 17107 x 1

oooo
2P + 1 = 3(340340n + 325033)

gooooooOo3soobooooooobo0oOoU0bOoUbDOoUobDOoUobDbOUDOoUobDbOUDoOO
oono

Q=487559 0000
P = 510510n + 487559

2P + 1 = 2(510510n + 487559) 4+ 1 = 1021020n + 975118 4+ 1 = 10210201 + 975119
0000010210200 20 2003,5,7,11,13,17000000 1000000

975119 = 367 x 2657 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 464609

goboobooobooboboobboobboobooobooo

Q=4875610000
P = 510510n + 487561

2P 4+ 1 =2(510510n + 487561) + 1 = 10210201 + 975122 + 1 = 10210201 + 975123

0000010210200 20 2003,5,7,11,13,17000000 10000000

975123 = 3 x 3 x 108347 x 1

oooo
2P + 1 = 3(340340n + 325041)

283



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4875670000
P = 510510n + 487567

2P 4+ 1 =2(510510n + 487567) + 1 = 1021020n + 975134 + 1 = 1021020n + 975135

0000010210200 20 2003,5,7,11,13,17000000 10000000

975135 =3 X b X 7Tx 37T x 251 x 1

oooo
2P 4+ 1 =105(9724n + 9287)

go0obOobOools0ob0oo0oo0o0oooboobooOooOob0oobOobOobOoDOooboDOoboon
good

Q=4875730000
P = 510510n + 487573

2P + 1 =2(510510n + 487573) + 1 = 10210201 + 975146 + 1 = 1021020n + 975147

0000010210200 20 2003,5,7,11,13,17000000 10000000

975147 =3 x 53 x 6133 x 1

oooo
2P + 1 = 3(340340n + 325049)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=4875790000
P = 510510n + 487579

2P + 1 = 2(510510n + 487579) 4+ 1 = 10210201 + 975158 + 1 = 10210201 + 975159
0000010210200 20 2003,5,7,11,13,17000000 10000000

975159 =3 x 3 x3x 3 x 3 x4013 x 1

good
2P + 1 = 3(340340n + 325053)

g0obobooo30bobobooooobobooDoOobobobODoboDobooobUobDOooDoo
goo

Q=487583 0000
P = 5105100 + 487583

284



2P + 1 =2(510510n + 487583) + 1 = 1021020n + 975166 + 1 = 10210201 + 975167

0000010210200 20 2003,5,7,11,13,17000000 1000000

975167 = 31 x 83 x 379 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 464657

oooboobooobooboboobboobboobooobooo

Q=487539 0000
P = 510510n + 487589

2P + 1 = 2(510510n + 487589) 4+ 1 = 10210201 + 975178 4+ 1 = 10210201 + 975179
0000010210200 20 2003,5,7,11,13,17000000 1000000

975179 = 223 x 4373 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 464669

gbbogbogobogbbgobbooboooobuoonobagn

Q=4876010000
P = 510510n + 487601

2P + 1 = 2(510510n + 487601) 4 1 = 10210201 + 975202 + 1 = 10210201 + 975203
0000010210200 20 2003,5,7,11,13,17000000 1000000
975203 = 47 x 20749 x 1
0000 10210200000000000000
2P + 1 = 510510m + 464693

gboboobogoboobboobboobbooobuoonooboon

Q=4876030000
P = 510510n + 487603

2P + 1 =2(510510n + 487603) + 1 = 1021020n + 975206 + 1 = 1021020n + 975207

oboo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

975207 =3 x 61 x 713 x 73 x 1

oooo
2P + 1 = 3(340340n + 325069)

285



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4876070000
P = 510510n + 487607

2P 4+ 1 =2(510510n + 487607) + 1 = 1021020n + 975214 + 1 = 1021020n + 975215

0000010210200 20 2003,5,7,11,13,17000000 10000000

975215 =5 x 195043 x 1

oooo
2P + 1 = 5(204204n + 195043)

o00ob0ooO0o0os000b0000000DO0ODOO0DO0OObO0ODbDODOO0ODbDOO0OODbDODODOn
goo

Q=487609 000 O
P = 510510n + 487609

2P 4+ 1 =2(510510n + 487609) + 1 = 10210201 + 975218 + 1 = 10210201 + 975219

0000010210200 20 2003,5,7,11,13,17000000 10000000

975219 =3 x 7 x 46439 x 1

oooo
2P + 1 = 21(48620n + 46439)

go0odoOoboOo210000000b0bO0ob0oO0oo0oo0oDOobDOoOoDOobDOobDooOboOooo
good

Q=4876210000
P = 510510n + 487621

2P + 1 = 2(510510n + 487621) 4+ 1 = 10210201 + 975242 + 1 = 10210201 + 975243
0000010210200 20 2003,5,7,11,13,17000000 10000000

975243 = 3 x 325081 x 1

good
2P + 1 = 3(340340n + 325081)

g0obOobooo30bobooooooboobooDooboboboDobDobooobUobOobDoo
goo

Q=4876310000
P = 510510n + 487631

286



2P + 1 =2(510510n + 487631) + 1 = 1021020n + 975262 + 1 = 1021020n + 975263

0000010210200 20 2003,5,7,11,13,17000000 1000000

975263 = 975263 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m + 464753

gboboobogobogoboboobboobooobooooboon

Q=4876330000
P = 5105100 + 487633

2P + 1 = 2(510510n + 487633) 4+ 1 = 10210201 4 975266 + 1 = 10210201 + 975267
0000010210200 20 2003,5,7,11,13,17000000 10000000

975267 =3 x 3 x 3 x41 x 881 x 1

oooo
2P + 1 = 3(340340n + 325089)

gooooooo3soooooooooboooobooboobooDboobboODoobboUOoDboO
goo

Q=4876370000
P = 510510n + 487637

2P + 1 = 2(510510n + 487637) + 1 = 10210201 + 975274 + 1 = 10210201 + 975275
0000010210200 20 2003,5,7,11,13,17000000 10000000

975275 =5 x5 x 7x 5573 x 1

oooo
2P + 1 = 35(29172n + 27865)

obooboooos3boooobooooobobooobooboobooboboooobOoobOoo
good

Q=4876390000
P = 510510n + 487639

2P 4+ 1 =2(510510n + 487639) + 1 = 10210201 + 975278 + 1 = 10210201 + 975279

0000010210200 20 2003,5,7,11,13,17000000 10000000

975279 = 3 x 325093 x 1

287



oooo
2P + 1 = 3(340340n + 325093)

000000003 000000000000DO000O000OO0DO0ODOO0ODOO0ODO0OO0ODOODOODODn
goo

Q=4876490000
P = 510510n + 487649

2P + 1 = 2(510510n + 487649) + 1 = 10210200 + 975298 + 1 = 10210201 + 975299
0000010210200 20 2003,5,7,11,13,17000000 10000000

975299 = 13 x 13 x 29 x 199 x 1

oooo
2P + 1 = 13(78540n + 75023)

o0bo0obO0o0ob0oooooooOooobooobooobDOo0oboOobUoboooobOoobOoo
good

Q=487651 0000
P = 510510n + 487651

2P + 1 = 2(510510n + 487651) 4+ 1 = 10210201 + 975302 + 1 = 10210201 + 975303
0000010210200 20 2003,5,7,11,13,17000000 10000000

975303 =3 x 3 x7Tx113 x 137 x 1

oooo
2P + 1 = 21(48620n + 46443)

oboobooobo21000obobo0oooobobooobooboobooboboooobOobobOoo
good

Q=4876570000
P = 5105100 + 487657

2P 4+ 1 =2(510510n + 487657) + 1 = 1021020n + 975314 + 1 = 10210201 + 975315

oo000010210200 20 2003,5,7,11,13,17000000 10000000

975315 =3 x 5 x 11 x 23 x 257 x 1

oooo
2P + 1 = 165(6188n + 5911)

gooodOooboOoles0dObOOOO0OO0O0ODO0ODOUODOUODOODOOOOOUODOUODOO
gogo

288



Q=487661 0000
P = 510510n + 487661

2P + 1 = 2(510510n + 487661) 4+ 1 = 10210201 + 975322 + 1 = 10210201 + 975323
0000010210200 20 2003,5,7,11,13,17000000 1000000

975323 = 975323 x 1

o000 102102000 000000000000

2P +1 = 510510m + 464813

gboboobogoboobboobboobbooobuoonooboon

Q=4876670000
P = 510510n + 487667

2P 4+ 1 =2(510510n + 487667) + 1 = 1021020n + 975334 + 1 = 10210201 + 975335
ooo000o10210200 20 2003,5,7,11,13,170 00000 10000000

975335 =5 x 97 x 2011 x 1

oooo
2P + 1 = 5(204204n + 195067)

gboobobooosOoboboboooboobobooobobOobobDobDoboboOobOobDOobDOoo
goo

Q=4876730000
P = 510510n + 487673

2P + 1 = 2(510510n + 487673) 4+ 1 = 10210201 4 975346 + 1 = 10210200 + 975347
0000010210200 20 2003,5,7,11,13,17000000 1000000
975347 = 197 x 4951 x 1
0000 10210200000000000000
2P + 1 = 510510m + 464837

gbooboobooobooboboobboobboooboooboon

Q=487681 0000
P = 510510n + 487681

2P 4+ 1 =2(510510n + 487681) + 1 = 1021020n + 975362 + 1 = 1021020n + 975363

0000010210200 20 2003,5,7,11,13,17000000 10000000

975363 = 3 x 139 x 2339 x 1

289



oooo
2P + 1 = 3(340340n + 325121)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q=4876870000
P = 510510n + 487687

2P 4+ 1 = 2(510510n + 487687) + 1 = 10210200 + 975374 + 1 = 10210201 + 975375
0000010210200 20 2003,5,7,11,13,17000000 10000000

975375 =3 x3x3 x5 xHxHx17Tx17x1

oooo
2P + 1 = 255(4004n + 3825)

Oooooooo2s0b00000ooooboboooooooobboooooooooobobBoooo
oooo

Q=4876910000
P = 510510n + 487691

2P + 1 = 2(510510n + 487691) 4+ 1 = 10210201 + 975382 + 1 = 10210201 + 975383
0000010210200 20 2003,5,7,11,13,17000000 1000000
975383 = 975383 x 1
0000 10210200000000000000
2P + 1 = 510510m + 464873

gboboobogobogbooboobboobbooobuoooboon

Q=4876930000
P = 510510n + 487693

2P + 1 =2(510510n + 487693) + 1 = 1021020n + 975386 + 1 = 1021020n + 975387

0000010210200 20 2003,5,7,11,13,17000000 10000000

975387 =3 x 7 x 46447 x 1

oooo
2P + 1 = 21(48620n + 46447)

goooooboo21000b0000ob0booooobo0ooooDOobDOoOoDobDOoboboboOooboo
good

290



Q=487699 0000
P = 5105100 + 487699

2P + 1 = 2(510510n + 487699) + 1 = 10210201 + 975398 + 1 = 10210201 + 975399
0000010210200 20 2003,5,7,11,13,17000000 10000000

975399 = 3 x 325133 x 1

oooo
2P + 1 = 3(340340n + 325133)

o00ob0obO0o0o30b00b0obooooobobOooDoOobOobOooDoboDobooobOobDOooDOoo
goo

Q=4877030000
P = 510510n + 487703

2P + 1 = 2(510510n + 487703) 4+ 1 = 10210201 4 975406 + 1 = 10210201 + 975407
0000010210200 20 2003,5,7,11,13,17000000 1000000

975407 = 23 x 42409 x 1

OoooD 10210200 000000000000

2P 4+ 1 = 510510m + 464897

gbbogbogobogbbgobbooboooobuoonobagn

Q=4877090000
P = 510510n + 487709

2P + 1 = 2(510510n + 487709) 4 1 = 10210201 + 975418 + 1 = 10210201 + 975419
0000010210200 20 2003,5,7,11,13,17000000 1000000
975419 = 227 x 4297 x 1
0000 10210200000000000000
2P + 1 = 510510m + 464909

gbooboobooobooboboobboobboooboooboon

Q=4877170000
P = 510510n + 487717

2P 4+ 1 =2(510510n + 487717) + 1 = 1021020n + 975434 + 1 = 1021020n + 975435

0000010210200 20 2003,5,7,11,13,17000000 10000000

975435 = 3 x 5 x 65029 x 1

291



oooo
2P + 1 = 15(68068n + 65029)

oooooooolboooobooooobobooobooboobooboboooobOoobOoo
good

Q=4877230000
P = 510510n + 487723

2P 4+ 1 = 2(510510n + 487723) + 1 = 10210200 + 975446 + 1 = 10210200 + 975447
0000010210200 20 2003,5,7,11,13,17000000 10000000

975447 =3 x 3 x 11 x 59 x 167 x 1

oooo
2P + 1 = 33(30940n + 29559)

oooooooos3boooooooooooooobooooboooooOoboOooooboOoooDoobOn
oooo

Q=4877270000
P = 510510n + 487727

2P + 1 = 2(510510n + 487727) 4+ 1 = 10210201 4 975454 + 1 = 10210200 + 975455
0000010210200 20 2003,5,7,11,13,17000000 10000000

975455 =5 x 13 x 43 x 349 x 1

oooo
2P 4 1 = 65(15708n + 15007)

gboobooooe,bbobboboboobobobobooboobOooboboooobOoboDbOoo
good

Q=4877330000
P = 510510n + 487733

2P + 1 =2(510510n + 487733) + 1 = 1021020n + 975466 + 1 = 1021020n + 975467

oboo0o00o10210200 20 2003,5,7,11,13,17000000 1000000

975467 = 263 x 3709 x 1

o000 10210200 000000000000

2P +1 = 510510m + 464957

ooboobooobooboboobboobboobooobooo

292



Q=4877410000
P = 510510n + 487741

2P + 1 =2(510510n + 487741) + 1 = 10210201 + 975482 + 1 = 10210201 + 975483

0000010210200 20 2003,5,7,11,13,17000000 10000000

975483 =3 x 3 x 3 x 3 x 12043 x 1

oooo
2P + 1 = 3(340340n + 325161)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=4877570000
P = 510510n + 487757

2P 4+ 1 =2(510510n + 487757) + 1 = 1021020n + 975514 + 1 = 1021020n + 975515

0000010210200 20 2003,5,7,11,13,17000000 10000000

975515 =5 x 195103 x 1

oooo
2P + 1 = 5(204204n + 195103)

g0obOobOo0os0b00b0bO0OO0U00bO0ODbDOobOU0oObO0ObDObDOobDOobOUOODbObDOoDbDOn
goo

Q=4877590000
P = 510510n + 487759

2P 4+ 1 =2(510510n + 487759) + 1 = 10210201 + 975518 + 1 = 10210201 + 975519

0000010210200 20 2003,5,7,11,13,17000000 10000000

975519 =3 x 3 x 107 x 1013 x 1

oooo
2P + 1 = 3(340340n + 325173)

gooooooOo3oUooboooooooboU0oOoU0bOoUbDOoUobOoUobDbOUDbDOoobDboUuDoO
oono

Q=487763 0000
P = 510510n + 487763

2P 4+ 1 =2(510510n + 487763) + 1 = 10210201 + 975526 + 1 = 1021020n + 975527

293



0000010210200 20 2003,5,7,11,13,17000000 10000000

975527 =7 x 139361 x 1

oooo
2P + 1 = 7(145860n + 139361)

O0o0ooooOovyo0o0oO0oOoO0oOoO0oOOoO0DOoO0DOD0o0DOOoO0DOOODOoOOoDOoOODOoOOd
goo

Q=487769000 0
P = 510510n + 487769

2P + 1 = 2(510510n + 487769) 4+ 1 = 10210201 4+ 975538 4+ 1 = 10210201 + 975539
0000010210200 20 2003,5,7,11,13,17000000 1000000

975539 = 31 x 31469 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 465029

gboboobogobooboboobboobbooobuoonooboon

Q=4877710000
P = 5105100 + 487771

2P + 1 = 2(510510n + 487771) 4+ 1 = 10210201 4+ 975542 + 1 = 10210201 + 975543
0000010210200 20 2003,5,7,11,13,17000000 10000000

975543 = 3 x 325181 x 1

oooo
2P + 1 = 3(340340n + 325181)

oooooooo3sooooooooooooboOoboobDoobDOoobbOODoOOobDboOoDboO
goo

Q=4877770000
P = 510510n + 487777

2P + 1 =2(510510n + 487777) + 1 = 1021020n + 975554 + 1 = 10210201 + 975555

0000010210200 20 2003,5,7,11,13,17000000 10000000

975555 =3 X 3 X H X 7Tx 19 x 163 x 1

oooo
2P + 1 =105(9724n + 9291)

294



gooooOooOoles0dOoboO0O0oO00DOO00ODOoU0ODOOUDOObDO0O0OOOUODOUODOO
goog

Q=487783 0000
P = 510510n + 487783

2P + 1 =2(510510n + 487783) + 1 = 10210201 + 975566 + 1 = 10210201 + 975567

0000010210200 20 2003,5,7,11,13,17000000 10000000

975567 = 3 x 325189 x 1

good
2P + 1 = 3(340340n + 325189)

o00ob0ooO0oo030b00b0obooo0ooboobDooOo0obobobODobDobOoobOobDOoDOon
goo

Q=4877870000
P = 510510n + 487787

2P 4+ 1 =2(510510n + 487787) + 1 = 1021020n + 975574 + 1 = 1021020n + 975575

0000010210200 20 2003,5,7,11,13,17000000 10000000

975575 =5 x 5 x 39023 x 1

oooo
2P + 1 = 5(204204n + 195115)

goooooo0ds0U0bO00bOO0ObOO0OO0ODOU0UDOODOUODOUODOUODOUODOO
ooo

Q=487789 0000
P = 510510n + 487789

2P + 1 = 2(510510n + 487789) 4+ 1 = 10210201 + 975578 + 1 = 10210201 + 975579
0000010210200 20 2003,5,7,11,13,17000000 10000000

975579 =3 x 11 x 17 x 37 x 47 x 1

oooo
2P +1 = 561(1820n + 1739)

O0obOobOooselobboooooboobobobooboob0ooboboboboooobooo
good

Q=4877930000
P = 5105100 + 487793

295



2P + 1 =2(510510n + 487793) + 1 = 1021020n + 975586 + 1 = 1021020n + 975587

0000010210200 20 2003,5,7,11,13,17000000 1000000

975587 = 67 x 14561 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 465077

gboboobogobogoboboobboobooobooooboon

Q=4878010000
P = 510510n + 487801

2P + 1 = 2(510510n + 487801) 4 1 = 10210201 4+ 975602 4+ 1 = 10210201 4+ 975603
0000010210200 20 2003,5,7,11,13,17000000 10000000

975603 = 3 x 325201 x 1

oooo
2P + 1 = 3(340340n + 325201)

gooooooo3soooooooooboooboOoboobooDbOoobboODoOobboUOoDboO
goo

Q=4878070000
P = 5105100 + 487807

2P + 1 = 2(510510n + 487807) + 1 = 10210201 4+ 975614 + 1 = 10210201 + 975615
0000010210200 20 2003,5,7,11,13,17000000 10000000

975615 =3 x 5 x 193 x 337 x 1

oooo
2P + 1 = 15(68068n + 65041)

oooooooolibooooboooooboboooboobooboobooooobOoobOoo
good

Q=4878110000
P = 510510n + 487811

2P 4+ 1 =2(510510n + 487811) + 1 = 1021020n + 975622 + 1 = 10210201 + 975623

0000010210200 20 2003,5,7,11,13,17000000 10000000

975623 =11 x 11 x 11 x 733 x 1

296



oooo
2P +1 = 11(92820n + 88693)

oooobooobolnooooboooooboboooboobooboobooooobOoobOoo
good

Q=4878130000
P = 510510n + 487813

2P 4+ 1 =2(510510n + 487813) + 1 = 10210201 + 975626 + 1 = 10210201 + 975627

0000010210200 20 2003,5,7,11,13,17000000 10000000

975627 =3 x 3 x 43 x 2521 x 1

oooo
2P + 1 = 3(340340n + 325209)

oooooooob3sooooooboobooooooobooooooooboboooooobbBbOoOo
ooo

297



